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B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2019 

First Semester 

Commerce with Computer Applications 

ADVANCED ACCOUNTANCY – I 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is Bank Reconciliation statement? 

 Á[Q \›Pmk AÔUøP  GßÓõÀ GßÚ? 

2. Give the meaning of interest on capital. 

 •uÀ «x Ámi Gß£uß ö£õ¸Ò u¸P. 

3. Write any two causes of depreciation. 

 ÷u´©õÚzvØPõÚ H÷uÝ® Cμsk Põμn[PøÍ GÊxP. 

4. Give a short note on dual aspect concept. 

 C¸ ußø© P¸zx £ØÔ ]Ö SÔ¨¦ GÊxP. 

Sub. Code 
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5. Journal the following transactions 

 Jan 1 purchased goods for cash Rs. 10,000 

 Jan 3 sold goods to Madan Rs. 15,000 

 Jan 5 Commenced business with Rs. 50,000 

 Jan 7 cash withdrew from bank 1,000 

 Jan 10 commission paid to Mr. A 100. 

 RÌUPsh £›ÁºzuøÚPÐUS SÔ¨÷£mk £vÄPÒ u¸P. 

 áÚÁ› 1 öμõUPzvØS \μUS Áõ[Q¯x 

 áÚÁ› 3 ©uÝUS PhÝUS \μUS ÂØÓx ¹. 15,000 

 áÚÁ› 5 öuõÈÀ öuõh[Q¯x ¹. 50,000 

 áÚÁ› 7 Á[Q°À C¸¢x £n® GkUP¨£mhx ¹.1,000 

 áÚÁ› 10 Mr. A US PÈÄ ¹. 100 ö\¾zv¯x. 

6. What is average due date? 

 \μõ\› uÁøn |õÒ  GßÓõÀ GßÚ? 

7. What is account current? 

 |h¨¦ PnUS  GßÓõÀ GßÚ? 

8. Write a note on straight line method of depreciation. 

 ÷u´©õÚzvÀ ÷|º÷Põmk •øÓø¯ £ØÔ¯ SÔ¨¦ GÊxP. 

9. Rectify the following errors: 

 Purchased furniture from Raghu Rs. 464 on credit 
debited as Rs.404 

 Sales book has been under cast by Rs. 200 

 Purchase book is over cast by Rs. 300. 
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 RÌPshÁØÔÀ ¤øÇPøÍ }USP. 

 μSÂhª¸¢x ¹. 464 US PhÝUS AøÓP»ß öPõÒ•uÀ 

ö\´ux. ¹. 404 BP £ØÖ øÁUP¨£mhx.  

 ÂØ£øÚ Hk ¹.200 SøÓÁõP £vÄ ö\´¯¨£mhx. 

öPõÒ•uÀ Hk ¹.300 AvP £i¯õP EÒÍx. 

10. What is the purpose of preparation of final accounts? 

 CÖv PnUS u¯õ›¨£vß ÷|õUP® GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions, choosing either or (a) or (b). 

11. (a) Prepare trial balances from the following. 
Particulars Amount 

Capital 75,000 

Sales 1,25,000 

Stock 30,000 

Debtors 40,000 

Purchases 50,000 

Salary 10,000 

Interest (cr) 5,000 

Loan 25,000 

Wages 3,000 

Bad debts 2,000 

Cash 12,000 

Bills payable 9,000 

  C¸¨£õ´Ä  u¯õº ö\´P. 

ÂÁμ® ¹.

•uÀ 75,000 
ÂØ£øÚ 1,25,000 
\μUS C¸¨¦ 30,000 
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PhÚõÎPÒ 40,000 
öPõÒ•uÀ 50,000 
\®£Í® 10,000 
Ámi (Á) 5,000 
Phß 25,000 
T¼ 3,000 
ÁμõUPhß 2,000 
öμõUP® 12,000 
ö\¾zuUS›¯ ©õØÖa^mk 9,000 

Or 

 (b) From the following transactions pass journal entries 

  Commenced business with cash 50,000 

  Goods purchased for cash 1,00,000 

  Sold goods for cash 90,000 

  Paid into bank 40,000 

  Cash withdrew for personal use 500 

  Paid salaries 1,000 

  Goods purchased from Mohan 25,000. 

  ¤ßÁ¸® |hÁiUøPPÐUS SÔ¨÷£k £vÄPÒ u¸P. 

  öμõUPzxhß öuõÈÀ öuõh[Q¯x ¹.50,000 

  öμõUPzvØS \μUS Áõ[Q¯x ¹.1,00,000 

  öμõUPzvØS ÂØÓ \μUS ¹. 90,000 

  Á[Q°À ö\¾zv¯x ¹. 40,000 

  ö\õ¢u ö\»ÄUS öμõUP® Gkzux ¹.500  

  \®£Í® ö\¾zv¯x ¹.1,000 

  ÷©õPÛh® C¸¢x \μUS Áõ[Q¯x ¹.25,000. 
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12. (a) Prepare profit and loss account for the year ending 

on 31.3.2014. 

Particulars Amount Particulars Amount 

Gross profit 25,000 Travelling expenses 500

Salaries  5,600 Stationary 75

Insurance 200 Rent 650

Discounted allowed 400 Interest on loan 225

Discount received 300 Repairs 125

Commission earned 100 Office expenses 55

Advertisement  450 General expenses 875

Taxes 150 Postage 175

Printing charges 375  

  31.3.2014–® |õøÍ¯ C»õ£ |mh PnUøPz u¯õ›UP. 

Â£μ® ¹. Â£μ® ¹. 

ö©õzu »õ£® 25,000 £¯na ö\»ÄPÒ 500

\®£Í® 5,600 GÊxö£õ¸Ò 75

Põ¨¥k 200 ÁõhøP 650

Ámh® AÎzux 400 Phß«x Ámi 225

Ámh® ö£ØÓx 300 £Êx¨£õº¨¦ 125

ö£ØÓ  uμS 100 A¾Á»Pa ö\»Ä 55

ÂÍ®£μ® 450 ö£õx ö\»ÄPÒ 875

Á›PÒ 150 Ag\À ö\»Ä 175

Aa_ ö\»Ä 375  

Or 
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 (b) Prepare trading and profit and loss account from 

the following information: 
Particulars Amount 

Opening stock 10,000 

Purchase 60,000 

Wages 11,500 

Closing stock 13,000 

Sales 1,00,000 

Carriage inwards 1,500 

Carriage outwards 1,200 

Rent (factory) 1,200 

Salaries 1,500 

Sales return 2,000 

Purchase return 3,000 

General expenses 3,000 

Discount to consumers 900 

Interest received 500 

  R÷Ç öPõkUP¨£mk EÒÍ ÂÁμ[øÍ öPõsk 

Â¯õ£õμ ©ØÖ® C»õ£ |mh PnUøP u¯õ›UP. 

Â£μ® ¹. 

öuõhUP \μUQ¸¨¦ 10,000 

öPõÒ•uÀ 60,000 

T¼ 11,500 

CÖv \μUQ¸¨¦ 13,000 

ÂØ£øÚ 1,00,000 

EÒyUS T¼ 1,500 

öÁÎyUS T¼ 1,200 

ÁõhøP (Bø») 1,200 
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\®£Í® 1,500 

ÂØ£øÚ v¸¨£® 2,000 

öPõÒ•uÀ v¸¨£® 3,000 

ö£õx ö\»ÄPÒ 3,000 

ÁõiUøP¯õÍ¸US u¢u uÒÐ£i 900 

Ámi ö£ØÓx 500 

13. (a) The fire occured at the premises of a trader on  
31.5.14 destroying a great part of his goods. His 
stock at 1.1.14 was Rs. 60,000. The value of stock 
salved Rs. 13,500. The gross profit on sales was 30% 
and sales amounted to Rs. 1,53,000 from January to 
data of fire, while for the period the purchases 
amounted to Rs. 1,03,500. Prepare a statement of 
claim. 

  31.5.04 Bsk J¸ |õÒ Â¯õ£õ›°ß  Qh[QÀ w 

Â£zx HØ£mk ö£¸®£õßø©¯õÚ \μUS ÷\u® 

Aøh¢ux. 1.1.14 AßÖ PnUQß £i ö©õzu \μUQß 

©v¨¦ ¹. 60,000 «mP¨£mh \μUQß ©v¨¦ ¹. 13,500. 

ö©õzu C»õ£® ÂØ£øÚ «x 30% BS®. 1.1.14 •uÀ 

Â£zx |h¢u ÷uv Áøμ ÂØ£øÚ ¹. 1,53,000 C÷u 

Põ»zvÀ AÁº ¹. 1,03,500 ö£Ö©õÚ•ÒÍ \μUSPøÍ 

öPõÒ•uÀ ö\´xÒÍõº. DmkÖv AÔUøP JßøÓU 

u¯õº ö\´P. 

Or 

 (b) The due date for payment of certain amounts are as 
follows  

  Jan 1 Rs. 4,000 due on February 4 

  Feb 1 Rs. 5,000 due on April 7 

  April 1 Rs. 8,000 due on May 4 

  May 10 Rs. 7,000 due on June 13 

  May 17 Rs. 10,000 due on June 20 

  Calculate average due date on which the bills may 
be paid assume the year of transaction is a leap 
year. 
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  SÔ¨¤mh ]» öuõøPø¯a ö\¾zxÁuØPõÚ uÁøn 

|õmPÒ Á¸©õÖ. 

  áÚÁ› 1 ¹. 4,000 uÁøn |õÒ ¤¨μÁ› 4 

  ¤¨μÁ› 1 ¹.5,000 uÁøn |õÒ H¨μÀ 7 

  H¨μÀ 1 ¹. 8,000 uÁøn |õÒ ÷© 4 

  ÷© 10 ¹.7,000 uÁøn |õÒ áüß 13 

  ÷© 17 ¹.10,000 uÁøn |õÒ áüß 20 

  |hÁiUøPPÒ |øhö£ØÓ  Bsk J¸ ½¨ Bsk GÚ 

AÝ©õÛzx GÀ»õ öuõøPUS® ÷\ºzx J÷μ |õÎÀ 

ö\¾zuUTi¯ \μõ\› uÁøn |õøÍU PnUQkP. 

14. (a) What do you mean by Bank Reconciliation 
Statement? Explain the reasons for preparing the 
same. 

  Á[Q¨ £õUQa \›UPmk® £mi¯À  GßÓõÀ GßÚ? 

Cøuz u¯õ›¨£uØPõÚ Põμn[PøÍ ÂÍUSP. 

Or 

 (b) The following errors were deducted in the accounts 
of Ram and Sons for the year ended 30th  June 2015 

  (i) A builder’s bill for Rs 2,700 for the erection of 
a small shed was debited to repairs account. 

  (ii) A cheque for Rs. 300 received from Rahim was 
dishonored and debited to allowances account 

  (iii) Goods to the value of Rs 150 returned by 
Chandmal were included in stock but no entry 
was made in the books 

  (iv) Repairs to plant amounting to Rs. 567 had 
been charged to plant and machinery account 
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  (v) Wages paid to the firms own workmen for 

making certain additions to machinery 
amounting to Rs. 550 were posted to wages 
account. 

   Give journal entries to correct these errors. 

  áüß 30 2015 ® |õ÷Íõk •iÁøh²® BsiØPõÚ 

μõ® & \ßì AÁºPÎß HkPÎÀ RÌUPsh ¤øÇPÒ 

PshÔ¯¨£mhÚ. 

  (i) ]Ô¯ öPõmhøP ÷£õmhuØPõÚ Pmihuõμ›ß 

Cμ^x ¹. 2,700 £Êx£õº¨¦ P/SÀ £ØÖ 

øÁUP¨£mkÒÍx 

  (ii) μï® Gß£Á›hª¸¢x ö£Ó¨£mh ¹. 300–ØPõÚ 

Põ÷\õø» AÁ©vUP¨£mhx ©ØÖ® Ax 

£iPÐUPõÚ PnUQÀ £ØÖ øÁUP¨£mkÒÍx 

  (iii) \¢z©õÀ v¸¨¤¯Ý¨¤¯ ¹. 150 ©v¨¦ÒÍ \μUS 

\μUQ¸¨¤À ÷\ºUP¨£mkÒÍx. BÚõÀ HkPÎÀ 

CuØS G¢u £vÄ® ö\´¯¨£hÂÀø» 

  (iv) ö£õÔ «uõÚ £Êx£õº¨¦a ö\»Ä ¹. 567, ö£õÔ 

©ØÖ® C¯¢vμU PnUQÀ £v¯¨£mkÒÍx 

  (v) C¯¢vμzvØPõÚ ]» TkuÀ £SvPøÍz u¯õ›zu 

{ÖÁÚzvß ußÝøh¯ öuõÈ»õÎUS 

ÁÇ[P¨£mh T¼¯õÚx ¹. 550 T¼ PnUQÀ 

Gkzx GÊu¨£mkÒÍx. 

   C¨¤øÇPøÍ \›UPmh E›¯ SÔ¨÷£k 

£vÄPøÍz u¸P. 
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15. (a) List out the limitations of average due date. 

  \μõ\› uÁøn ÷uv°ß SøÓ£õkPøÍ £mi¯¼kP. 

Or 

 (b) X purchased goods on credit. His dates for payments 
were as follows: 

Date Amount of bill Due date 
5.3.95 600 8.4.95 

15.4.95 400 18.5.95 
10.5.95 275 13.6.95 

5.6.95 400 8.7.95 

  Find out the average due date. 

  X Gß£Áº PhÛØS \μUSPøÍ öPõÒ•uÀ ö\´uõº. 

AÁº uÁøn ö\¾zu ÷Ási¯ |õmPÒ R÷Ç 

uμ¨£mkÒÍx. 

÷uv ¤À öuõøP uÁøn |õÒ

5.3.95 600 8.4.95 

15.4.95 400 18.5.95 

10.5.95 275 13.6.95 

5.6.95 400 8.7.95 

  \μõ\› uÁøn |õÒ Psk¤iUPÄ®. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Journal the following transactions 

 Purchased goods for cash Rs. 10,000 

 Purchased stationery for cash Rs 500 

 Purchased furniture for cash Rs. 3,000 

 Sold goods for cash Rs. 8,000 

 Sold goods to J for cash Rs. 3,000 
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 Sold goods to James Rs. 5,000 

 Paid salary Rs. 8,000 

 Paid rent to Krishna the landlord Rs. 800 

 Paid freight on goods purchased Rs. 300 

 Received Rs. 800 from Kamal 

 Received Rs. 600 from Kamal as interest 

 Received Rs 7,000 from Kamal as loan at 6% interest 

 Paid wages Rs. 1,250 

 Paid into bank Rs. 1,000 

 Withdrew from bank for personal use Rs. 200. 

 öμõUPzvØS \μUS öPõÒ•uÀ ¹. 10,000 

 GÊx ö£õ¸Ò öμõUPzvØS öPõÒ•uÀ ¹.500 

 AøÓP»ß öμõUPzvØS öPõÒ•uÀ ¹. 3,000  

 öμõUPzvØS \μUS ÂØ£øÚ ¹.8,000 

 ÷áÄUS \μUS öμõUPzvØS ÂØ£øÚ ¹.3,000 

 ÷á®ìUS \μUS ÂØ£øÚ ¹.5,000 

 Fv¯® ö\¾zv¯x ¹. 8,000 

 {»UQÇõº Q¸ènÝUS ÁõhøP ö\¾zv¯x ¹.800 

 \μUS öPõÒ•u¾UPõP \zu® ¹.300 

 P©¼hª¸¢x ö£ØÓx ¹.800 

 P©¼hª¸¢x Ámi ö£ØÓx ¹. 600 

 PhÚõP 6% ÁmiUS P©¼hª¸¢x ¹. 7,000 ö£Ó¨£mhx 

 T¼ ö\¾zv¯x ¹.1,250 

 Á[Q°À £n® ö\¾zv¯x ¹.1,000 

 ö\õ¢u E£÷¯õPzvØPõP Á[Q°À Gkzux ¹. 200. 

 SÔ¨÷£k u¸P. 
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17. On 31st Jan 2007 the pass book of Prabu showed a debit 

balances of Rs. 41,000. Prepare bank  Reconciliation 
statement with the following  information. 

 (a) Cheque amounting to Rs. 15,600 were drawn on  
27th  Jan. 2007 out of which cheques for Rs. 11,000 
were cashed upto 31st Jan 2007 

 (b) A wrong debit of Rs. 800 has been given by the bank 
in pass book 

 (c) A cheque for Rs. 200 was credited in pass book but 
was not recorded in cash book 

 (d) A cheque for Rs. 1,000 returned dishonoured and 
were debited in pass book only. 

 (e) Interest and bank charges amounted to Rs. 100 and 
were not accounted for in cash book 

 (f) A Cheque of Rs. 500 debited in the cash book 
omitted to the banked. 

 (g) A wrong credit has been given by the banker for  
Rs. 500 in the pass book. 

 (h) Cheques amounting to Rs. 21,000 were deposited for 
collection. But cheques for Rs. 7,400 have been 
credited in pass book at 5th  Feb. 2007. 

 áÚÁ› 31, 2007 AßÖ ¤μ¦ÂÝøh¯ ö\À÷»miÀ  

¹. 41,000. £ØÖ Põmi¯x. RÌPõq® Â£μ[PÎ¼¸¢x Á[Q 

\›UPmk® £mi¯ø»z u¯õº ö\´P. 

 (A) áÚÁ› 27,  2007 À Áøμ¯¨£mh Põ÷\õø»PÎß 

©v¨¦ ¹. 15,600 AÁØÔÀ áÚÁ› 31 2007 ¹. 11,000 

©v¨¤ØPõÚ Põ÷\õø»PÒ ©mk® 

£n©õUP¨£mkÒÍx 

 (B) Á[Q ¹. 800 ØS ö\À÷»miÀ uÁÓõÚ £ØÖ AÎzx 

EÒÍx 

 (C) ¹. 200 ØPõÚ  Põ÷\õø» ö\À÷»miÀ ÁμÄ 

øÁUP¨£mkÒÍx. BÚõÀ öμõUP HmiÀ 

£v¯¨£hÂÀø» 
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 (D) AÁ©vUP¨£mk v¸®¤¯ Põ÷\õø» ¹.1,000 

ö\À÷»miÀ ©mk® £v¯¨£mkÒÍx 

 (E) Ámi ©ØÖ® Á[Q Pmhn® ¹.100 öμõUP HmiÀ 

CßÝ® PnUQÀ GkzxU öPõÒÍ¨£hÂÀø» 

 (F) öμõUP HmiÀ £ØÖ øÁUP¨£mh ¹. 500 ØPõÚ 

Põ÷\õø» Á[Q°¼kÁuØS Âk£mkÂmhx 

 (G) Á[Q°ÚõÀ ö\À÷»miÀ uÁÓõP ÁÇ[P¨£mh ÁμÄ 

¹. 500 

 (H) ¹. 21,000 ©v¨¦ÒÍ Põ÷\õø»PÒ Á`¼¨£uØPõP 

Á[Q°¼h¨£mhx. BÚõÀ ¹. 7,400 ØPõÚ 

Põ÷\õø»PÒ ©mk® ¤¨μÁ› 5, 2007–À ö\À÷»miÀ 

ÁμÄ øÁUP¨£mkÒÍx. 

18. Abi and Co purchased a machine on 1.1.1995 for  
Rs. 9,250 and immediatley spent Rs. 750 on its erection. 
On 1.7.1996 it purchased another machine for Rs. 2,500 
and 1.7.1997 it sold off the first machine purchased in 
1995 for Rs. 7,000 and the same date it purchased 
another machine for Rs. 6,250. On 1.7.1998 the second 
machine purchased for Rs. 2,500 was sold off for Rs. 500. 
Depreciation was provided on the machinery on written 
down method at 10% p.s. Give machinery account for four 
years commencing from January 1.1995. 

 1.1.95 AßÖ A¤ ©ØÖ® ÷Põ ¹. 9,250 US C¯¢vμ® JßøÓ 

Áõ[Q¯x. ÷©¾® EhÚi¯õP {ÖÄÁuØS ¹. 750 

ö\¾zv¯x. 1.7.96 AßÖ ©ØöÓõ¸ C¯¢vμ® ¹.2,500 US 

Áõ[P¨£mhx. ÷©¾® 1.7.97 AßÖ 1995 À Áõ[Q¯ •uÀ 

C¯¢vμzøu ¹. 7,000 US ÂØP¨£mhx. A÷u |õÎÀ ÷©¾® 

J¸ C¯¢vμzøu ¹. 6,250 Áõ[P¨£mhx. 1.7.98 AßÖ  

¹. 2,500 US Áõ[Q¯ CμshõÁx C¯¢vμzøu ¹. 500 US 

ÂØP¨£mhx. SøÓ¢u ö\À ©v¨¦ •øÓ°À BskUS 10%  

÷u´©õÚ® }UP¨£h ÷Ásk®. áÚÁ› 1. 1995 •uÀ |õßS 

BskPÐUPõÚ C¯¢vμ PnUøP u¸P. 
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19. Prepare a trading and profit and loss account for the year 

ending 31.3.2011 and a balance sheet as on that date 
from the following balances. 

Particulars Rs. Particulars Rs. 
Capital 52,000 Sundry debtors 31,000

Sales 1,01,000 Purchases 72,000
Purchase return 1,900 Rent 560
Opening stock 22,000 Carriage inwards 390

Furniture 5,500 Bad debts 160
Sundry creditors 6,200 Postage 210
Investment 16,700 Travelling expenses 550

Salaries 1,800 Cash at bank 3,270
Sales return 5,200 Wages 1,300
Printing 240 Insurance 220

 Adjustments 
 Salaries outstanding Rs. 150 
 Closing stock Rs. 18,500 
 Insurance was prepaid Rs. 30 
 10% depreciation on furniture. 

 ¤ßÁ¸® C¸¨¦PøÍ öPõsk 31, ©õºa 2011 B® 

BskUPõÚ Â¯õ£õμ, C»õ£ |mh PnUS ©ØÖ® 

A¢|õøÍ¯ C¸¨¦ {ø»U SÔ¨ø£²® u¯õº ö\´P. 

ÂÁμ® ¹. ÂÁμ® ¹. 

•uÀ 52,000 PhÚõÎPÒ 31,000

ÂØ£øÚ 1,01,000 öPõÒ•uÀ 72,000

öPõÒ•uÀ v¸¨£® 1,900 ÁõhøP 560

öuõhUP \μUQ¸¨¦ 22,000 EÒyUS T¼ 390

AøÓUP»ß 5,500 ÁμõUPhß 160

PhÜ¢÷uõº 6,200 u£õÀ 210

•u½kPÒ 16,700 ÷£õUSÁμzx ö\»Ä 550

\®£Í® 1,800 Á[Q°¸¨¦ 3,270

ÂØ£øÚ v¸¨£® 5,200 T¼ 1,300

Aa_ 240 Põ¨¥k 220
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 \›PmkuÀPÒ 

 (A) öPõk£h ÷Ási¯ \®£Í® ¹.150 

 (B) CÖv \μUQμ¨¦ ¹. 18,500 

 (C) •ßTmi ö\¾zv¯ Põ¨¥k ¹. 30 

 (D) AøÓP»ß «x 10% ÷u´©õÚ® }USP. 

20. Fire occurred in the premises of Paswan on 10th may 
2009. In order to make a claim on their five policies in 
respect of stock they ask your advice and you are able to 
obtain the following information. 
Particulars 2006  2007  2008  2009

Opening stock 16,000 15,000 16,000 18,000

Purchases 41,000 47,200 56,600 78,000

Sales — 60,000 66,000 78,000 99,000

Closing stock 15,000 16,000 18,000 ?

 The stock salvaged was Rs.3,800. Compute the amount of 
claim. 

 £õìÁõß Gß£Á›ß Pmih® 10.5.09 À w ¤izux. 

RÌUPõq® Â£μzv¼¸¢x \μUS CÇ¨¦ \®£¢u©õÚ 

÷Põ¸›ø©ø¯U Psk¤i. 

Â£μ® 2006  2007 2008 2009

öuõhUP \μUQ¸¨¦16,000 15,000 16,000 18,000

öPõÒ•uÀ 41,000 47,200 56,600 78,000

ÂØ£øÚ 60,000 66,000 78,000 99,000

CÖv \μUQ¸¨¦ 15,000 16,000 18,000 ?

 £õxPõUP¨£mh \μUQß ©v¨¦ ¹. 3,800 

—————— 
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B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2019 

First Semester 

Commerce with Computer Applications 

RELATIONAL DATABASE MANAGEMENT SYSTEM 
(RDBMS) 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is file system? 

 ÷Põ¨¦ •øÓø© GßÓõÀ GßÚ? 

2. List out the database languages. 

 uμÄzuÍ ö©õÈPÒ ¯õøÁ? 

3. What do you mean by foreign key? 

 Foreign Âø\ GßÓõÀ GßÚ? 

4. What is an entity? 

 Entity GßÓõÀ GßÚ? 

5. What is a Trigger? 

 yskuÀ GßÓõÀ GßÚ? 

6. List out the comparison operators. 

 J¨¤mk B£÷μmhºPøÍ £mi¯¼k. 

Sub. Code 
7BCC1C2 
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7. What is atomicity? 

 AqU÷Põ¨¦ GßÓõÀ GßÚ? 

8. What is durability? 

 B²Ò GßÓõÀ GßÚ? 

9. What is Buffer Manager? 

 uõ[PÀ ÷©»õÍº GßÓõÀ GßÚ? 

10. What is deadlock? 

 •hUP® GßÓõÀ GßÚ? 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) List out any five difference between database 
system and file system. 

   uμÄzuÍ Aø©¨¦ ©ØÓ® ÷Põ¨¦ Aø©¨¦ •øÓ°À 

EÒÍ H÷uÝ® I¢x ÷ÁÖ£õkPøÍ TÖP. 

Or 

 (b) List out any five responsibilities of DBA. 

   DBA°ß H÷uÝ® I¢x ö£õÖ¨¦UPøÍ £mi¯¼kP. 

12. (a) Discuss the general key and foreign key constraints 
in SQL. 

   SQL ¼À EÒÍ ö£õx ©ØÖ® öÁÎ¦Ó Âø\°ß 

Pmk¨£õkPøÍ ÂÁ›. 

Or 

 (b) Explain how will you enforce integrity constraint in 
SQL. 

   J¸ø©¨£õk Pmk¨£õmiøÚ GÆÁõÖ SQLÀ 

ö\¯À£kzxÁx GÚ ÂÍUSP. 
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13. (a) Explain Nested Query with example. 

   Nested Query SÔzx ]ÖSÔ¨¦ ÁøμP. 

Or 

 (b) Write short note on SQL Triggers. 

   SQL GßÓõÀ GßÚ? 

14. (a) What are the different properties of a transaction? 
Explain Briefly. 

   £À÷ÁÖ ÁøP¯õÚ £›Áºzuøn°ß £s¦PÒ ¯õøÁ? 

_¸UP©õP TÖP. 

Or 

 (b) Write short note on heap file. 

   SÂ¯À ÷Põ¨¦ £ØÔ ]ÖSÔ¨¦ ÁøμP. 

15. (a) Discuss about primary or secondary indexes. 

   •ußø© ©ØÖ® Cμshõ® {ø» v¸¨¤øÚ ÂÁ›. 

Or 

 (b) Discuss about Hash based indexing. 

   ¦» – \õº¢u v¸¨¤øÚ ÂÁ›. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain database Architecture with neat diagram. 

 uμÄzuÍ Pmhø©¨¦ SÔzx Áøμ£hzxhß ÂÍUSP. 

17. Explain ‘‘Set’’ operations with example. 

 ‘‘Aø©’’ ö\¯À£õkPøÍ Euõμnzxhß ÂÍUSP. 
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18. What is SQL? Explain its parts in detail. 

 SQL GßÓõÀ GßÚ? Auß £õP[PøÍ ÂÍUSP. 

19. Explain Normalization. 

 C¯À£õUP® SÔzx ÂÍUSP. 

20. What are the main contributor’s to the cost of database 
operation? Discuss a simple cost model that reflects this. 

uμÄzuÍ ö\¯À£õmk ö\»ÄPÐUS Gx •UQ¯ 

£[PÎUQÓx? H÷uÝ® Kº •UQ¯ GÎ¯ ö\»Ä ©õv›ø¯ 

ÂÁ›. 

 

 

 
———————— 
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B.Com. (C.A.) DEGREE EXAMINATION,  
NOVEMBER 2019 

Second Semester 

Commerce with Computer Applications 

ADVANCED ACCOUNTANCY — II 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Section A  (10  2 = 20) 

Answer all questions. 

1. What is a receipt? 

 ö£ÖuÀ GßÓõÀ GßÚ? 

2. What do you mean by deficit? 

 £ØÓõUSøÓ GßÓõÀ GßÚ? 

3. What is due date? 

 •vºÄ ÷uv GßÓõÀ GßÚ? 

4. Define grace period. 

 P¸øÚ Põ»® GßÓõÀ GßÚ? 

5. What is abnormal loss? 

 A\õuõμn |èh® GßÓõÀ GßÚ? 

6. What is over riding commission? 

 KÁºøμi[ uμS GßÓõÀ GßÚ? 

Sub. Code 
7BCC2C1 
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7. Write a note on co-venture. 

 Cøn&ÂøÚ¯º SÔ¨¦ GÊxP. 

8. What is memorandum joint venture account? 

 SÔ¨¦ Cøn {ÖÁÚ® PnUS GßÓõÀ GßÚ? 

9. What is single entry systems? 

 JØøÓ £vÄ •øÓ GßÓõÀ GßÚ? 

10. What is conversion method? 

 ©õØÖ•øÓ GßÓõÀ GßÚ? 

 Section B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) How will the following appear in the final accounts 
of Trichy Sports Club? 

 Rs. 

Stock of sports materials on 1-1-99 3,000

Sports material purchased during 1999 8,500

Sale of old sports materials during 1999 1,000

Stock of sports materials on 31-12-99 600

  v¸a] ÂøÍ¯õmk PÇPzvÀ CÖv PnUS GÆÁõÖ 

C¸US® GÚ PnUQkP. 

 ¹. 

ÂøÍ¯õmk ö£õ¸mPÒ \μUS 1.1.99 3,000

ÂøÍ¯õmk ö£õ¸mPÒ öPõÒ•uÀ 1999 8,500

ÂøÍ¯õmk ö£õ¸mPÒ ÂØ£øÚ (£øÇ¯x) 1999 1,000

CÖv \μUQ¸¨¦ 31.12.99 600

Or 
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 (b) V. Anandh chess club conducts National grand 
master tournaments once in three years apart from 
providing routine sports facilities to its members. 
The following items relating to the Tournament in 
the year 2000 are available. Show how these items 
will appear in the Balance sheet of the club : 

 Rs. 

Tournament Fund on 1-1-2000 4,00,000

Fund Investments on 1-1-2000 3,90,000

Fund Bank Balance on 1-1-2000 10,000

Interest on investments received in 2000 45,000

Tournaments entrance fee received 20,000

Tournament expenses 1,80,000

Cash received from sale of investments 
at par 1,20,000

  v¸. V. BÚ¢z ö\ì PÇP® ‰ßÖ Á¸hzvØS J¸ 

•øÓ ÷u]¯ Qμßm ©õìhº ÷£õmi |hzxÁõºPÒ. 

2000 Á¸h® ÷£õmi \®©¢u©õP Â£μ[PÒ 

öPõkUP¨£mkÒÍx. Cx AøÚzx® GÆÁõÖ C¸¨¦ 

{ø» SÔ¨¦ Põs¥¨¥ºPÒ. 

 ¹. 

÷£õmi {v  1-1-2000 4,00,000

{v •u½k 1-1-2000 3,90,000

{v Á[Q C¸¨¦ 1-1-2000 10,000

{v°ß «x Ámi 2000 ö£ØÓx 45,000

÷£õmi ~øÇÄ Pmhn® ö£ØÓx 20,000

÷£õmi ö\»ÄPÒ 1,80,000

•u½kø¯ ÂØÓx (at par) öμõUP® ö£ØÓx 1,20,000
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12. (a) Find out the Average due date of the following bills 
accepted by a trader who wishes to settle them with 
one single payment. 
Date of Bill  Amount of Bill 

Rs. 
Due date

1.4.90 800 6.6.90 
30.4.90 1,000 3.4.90 
3.6.90 400 6.7.90 
15.6.90 600 18.9.90 

   RÌUPsh J¨¦U öPõsh Esi¯ø» J¸ Â¯õ£õ› 

ö©õzu©õP J÷μ •øÓ ö\miÀ ö\´¯ Â¸®¦QÓõº 

GÚU öPõsk \μõ\› uÁøn |õøÍ PnUQkP. 

Esi¯À ÷uv Esi¯À öuõøP

¹. 

•vºÄ ÷uv

 1.4.90 800 6.6.90 
 30.4.90 1,000 3.4.90 
 3.6.90 400 6.7.90 
 15.6.90 600 18.9.90 

Or 

 (b) X sold goods to Y as detailed below : 
Date of Invoice Value of goods sold

(Rs.) 
5.5.94 2,000 

12.5.94 1,500 
19.5.94 3,000 
26.5.94 2,200 
1.6.94 1,500 
3.6.94 1,000 

  The payments were agreed to be made by bills 
payable 90 days from the respective dates of invoice. 
However, Y wanted to arrange for payment of all 
the bills to be made on a single date. Calculate the 
date on which such payment could be made without 
loss of interest to either party. 
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   ‘X’ ‘Y’-°h® ö£õ¸mPøÍ ÂØ£øÚ ö\´uõº. 

Chõ¨¦ ÷uv ÂØ£øÚ öuõøP

(¹.) 

5.5.94 2,000 

12.5.94 1,500 

19.5.94 3,000 

26.5.94 2,200 

1.6.94 1,500 

3.6.94 1,000 

  öPõk¨¦PÒ AøÚzx® 90 |õÒ Esi¯À ‰»® 

ö\¾zu J¨¦ öPõshõº. BÚõÀ ‘Y’ AøÚzx 

Esi¯¼ß öuõøPø¯ J÷μ |õÎÀ ö\¾zu TÔÚõº. 

Ámi°À»õ©À G¢u ÷uv°À GÀ»õÁØøÓ ö\¾zu 

÷Ásk® GßÖ PnUQkP. 

13. (a) Balan of Bangalore consigned 190 bags of sugar to 
Raghu of Chennai, invoicing goods at Rs. 180 per 
bag. Balan paid Rs. 1,200 as cartage and other 
expenses. The consignor drew a bill of exchange for 
Rs. 12,000 which was later discounted at 11,800. 
The consignee rendered an account sales showing 
the following details : 

  (i) 100 bags sold at Rs. 240 each on credit 
  (ii) 90 bags sold at Rs. 230 each for cash 
  (iii) Freight and Carriage Rs. 2 000 
  (iv) Transit insurance Rs. 600 
  (v) Storage and Insurance Rs. 1,000 
  (vi) Commission at 5% 
   The consignee sent a sight draft for the 

amount due. You are required to prepare 
ledger accounts in the books of both the 
parties assuming that the consignee incurred 
a bad debt of Rs. 400. 
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   £õ»ß, ö£[PÑº, 190 \ºUPøμ ‰møhø¯ μS, 

ö\ßøÚUS AÝ¨¤Úõº, Chõ¨¦ ¹. 180/‰møh. 

£õ»ß ¹. 1,200, ö£miUS ©ØÓøÁ ö\»ÄPÒ ö\´uõº. 

AÝ¨¦Úõº ©õØÖ Esi¯ø» ¹. 12,000 PÈÄ ö£ØÖ 

¹. 11,800 ö£ØÓõº. ö£Ö|º ÂØ£øÚU PnUPÔUøP 

AÝ¨¤ EÒÍõº. 

  (i) 100 ‰møh ÂØ£øÚ ¹. 240 PhÝUS 

  (ii) 90 ‰møh ÂØ£øÚ ¹. 230 öμõUPzvØS 

  (iii) Hzx T¼ ¹. 2,000 

  (iv) ÷£õUSÁμzx Põ¨¥k ¹. 600 

  (v) Qh[S ©ØÖ® Põ¨¥k ¹. 1,000 

  (vi) uμS 5% 

   AÝ¨¥k ö£Ö|º uÚx £õUQz öuõøP°øÚ 

Á[Q Áøμ Kø»¯õP AÝ¨¤Úõº GÚU öPõsk 

¹. 400 ÁμõPhÚõP EÒÍx Gß£øu öPõsk 

CÁº HkPÎÀ ÷uõßÖ® ÷£÷μmk PnUSPøÍ 

u¯õ›UPÄ®. 

Or 

 (b) A company sends 300 bales of cotton to its consigner 
consisting Rs. 600 per bale. The following expenses 
were incurred in connection with the consignment. 

  (i) Rs. 900 paid by the consignor for dispatching 
the goods. 

  (ii) Rs. 2,000 paid by the consignee by way of 
freight, duty and clearing charges. 

  (iii) Rs. 1,000 paid by the consignee by way of 
godown rent and salaries of element. 

   You are required to the calculate the value of 
stock at end, if the consignee sells away  
two-thirds of the consignment at Rs. 700 per 
bale. The consignee is to receive commission of 
11% on sales. 
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   J¸ {ÖÁÚ® 300 ÷£À £gø\ ¹. 600/÷£À Ãu® 

AÝ¨¤ÚõºPÒ. C¢u AÝ¨¦uÀ \®©¢u©õP ö\´u 

ö\»ÄPÒ. 

  (i) ¹. 900 AÝ¨¦Úº, AÝ¨¤¯ ö\»Ä ö\´uõº 

  (ii) ¹. 2,000 ö£Ö|º, HØÖT¼, Á› ©ØÖ® 

ö£õ¸mPøÍ QÎ¯º ö\´uuØS BÚ ö\»ÄPÒ 

  (iii) ¹. 1,000 ö£Ö|º, Qh[S ÁõhøP ©ØÖ® 

\®£ÍzvØS ö\»Ä ö\´uõº.  

   ö£Ö|º 2/3 AÝ¨¥møh  ¹. 700 ÷£À Ãu® 

ÂØÓõº. \μUQ¸¨ø£ PnUQkP. ö£Ö|º 11% 

ÂØ£øÚ°À uμS ö£Ó÷Ásk®. 

14. (a) A and B doing business separately as building 
contractors, undertake jointly to construct a 
building for a newly started joint stock company for 
a contract price of Rs. 1,00,000 payable as to  
Rs. 80,000 by installments in cash and Rs. 20,000 in 
fully paid shares of the company. A banking account 
is opened in their joint names, a paying Rs. 25,000 
and B Rs. 15,000. They are to share profits and 
losses in the proportions of 2/3 and 1/3 respectively. 
Their transactions were as follows : 

 Rs. 

Paid Wages 30,000

Bought materials 70,000

Materials supplied by A 5,000

Materials supplied by B 4,000

Architect ‘s fees paid by A 2,000

  The contract was completed and the price (Cash and 
shares) duly received. The joint venture was closed 
by ‘A’ taking up all the shares of the company 
agreed valuation of Rs. 16,000 and ‘B’ taking up the 
stock of materials is agreed valuation of Rs. 3,000. 

  Show the necessary ledger Accounts. 
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  A ©ØÖ® B C¸Áº uÛzuÛ¯õP ¤ÀiU PõsiμUhºPÒ, 

¦vuõP J¸ Tmk {ÖÁÚ® Bμ®¤zx J¸ Pmihzøu 

J¨£¢uzvß Ai¨£øh°À ¹. 1,00,000 GÚ •iÄ 

ö\´x, ¹. 80,000 öμõUP©õP uÁøn•øÓ°¾®,  

¹. 20,000 P®ö£Û •Êø© ö£ØÓ £[SPÍõP ö£ØÓõº. 

Á[Q PnUS Cøn ö£¯ºPÎÀ Bμ®¤zx  

A – ¹. 25,000, B – ¹. 15,000 ö\¾zvÚõºPÒ. AÁºPÒ 

C»õ£ |mhzøu 2/3 ©ØÖ® 1/3 ÂQuzvÀ •øÓ¯õP 

¤›zx öPõshÚº. SÔ¨÷£k öPõkUP¨£mkÒÍx. 

 ¹. 

T¼ öPõkzux 30,000

ö£õ¸mPÒ Áõ[Q¯x 70,000

A-ÂØS ö£õ¸mPÒ öPõkzux 5,000

B-ÂØS ö£õ¸mPÒ öPõkzux 4,000

AºQöhU ¥ì A ö\¾zv¯x 2,000

  J¨£¢u® •iÄØÓx AuØPõÚ öuõøP ö£ØÓx 

(öμõUP® ©ØÖ® £[S). CøÚ {ÖÁÚ®, •iÄØÓuõÀ 

‘A’ Auß £[SPøÍ ¹. 16,000 ©ØÖ® ‘B’ \μUQøÚ  

¹. 3,000 Gkzx öPõshÚº. ÷£÷μkPøÍ u¯õº ö\´P. 

Or 
 (b) A and B are in joint venture. Both maintain 

complete records in their own respective books.  
A spends Rs. 50,000 to buy goods for joint venture 
and pays Rs. 20,000 for other expenses.  
‘B’ purchases for Rs. 40,000 and spends Rs. 30,000 
for Expenses. B sells all the goods for Rs. 2,40,000 
and the venture is closed. Prepare joint venture 
account in ‘A’s books. 

   A ©ØÖ® B Cøn {ÖÁÚzvÀ C¸¢uÚº. C¸Á¸® 

uÛ ¦zuPzøu øÁzxÒÍõºPÒ. ‘A’ ¹. 50,000 ö\»Ä 

ö\´x öPõÒ•uÀ ©ØÖ® ¹. 20,000 Cuμ ö\»ÄPÒ. 

‘B’ öPõÒ•uÀ ö\»Ä ¹. 40,000 ©ØÖ® Cuμ ö\»ÄPÒ 

¹. 30,000. ‘B’ AøÚzøu²® ÂØ£øÚ ö\´uõº  

¹. 2,40,000. {ÖÁÚ® ‰h¨£mhx. ‘A’-Âß ¦zuPzvÀ 

Cøn {ÖÁÚ PnUSPøÍ GÊxP. 
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15. (a) Explain the method to prepare statement of affairs. 

   GÆÁõÖ {ø»ø© ÂÁμ® u¯õº ö\´Ãº – ÂÍUSP. 

Or 

 (b) Ramesh keeps his books on single entry basis. 
Prepare a statement of affairs as on 31.10.1982 and 
a statement of profit (or) loss for the period ending  
31.10.1982. 

Assets and Liabilities 1.11.81 
Rs. 

31.10.82
Rs. 

Bank Balance     560 (cr)    350 (cr)

Cash on Hand 10 50 

Debtors 4,500 3,600 

Stock 2,700 2,900 

Plant 4,000 4,000 

Furniture 1,000 1,000 

  Ramesh had withdraw Rs. 2,000 during the year 
and had introduced fresh capital of Rs. 4,200 on 
1.7.1982. A provision of 5% on debtors is necessary. 
Write-off Depreciation on plant at 10% and 
furniture at 15%. Interest on capital is to be allowed 
at 5%. 

   μ÷©è uß PnUSPøÍ JßøÓ £vÄ •øÓ°À £vÄ 

ö\´uõº. {ø»ø© ÂÁμ® 31.10.1982 AßÖ®, C»õ£ 

|mh PnUS ÂÁμ[PÒ 31.10.1982 AßÖ 

öPõkzxÒÍõºPÒ. 

ö\õzxUPÒ ©ØÖ® 

ö£õÖ¨¦PÒ 

1.11.81 

¹. 

31.10.82 

¹. 

Á[Q C¸¨¦     560 (Cr)    350 (Cr)

öμõUP® øP°¸¨¦ 10 50 

PhÚõÎPÒ 4,500 3,600 
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ö\õzxUPÒ ©ØÖ® 

ö£õÖ¨¦PÒ 

1.11.81 

¹. 

31.10.82 

¹. 

\μUS 2,700 2,900 

Bø» 4,000 4,000 

©μ©zx 1,000 1,000 

  μ÷©è ¹. 2,000 öμõUP® Gkzuõº. ¤ß¦ ¹. 4,200 

¦x•uÀ öPõsk Á¢uõº 1.7.82 AßÖ PhÚõÎPÒ «x 

JxURk 5%, ÷u´©õÚ® Bø» «x 10%, ©μ©zx 15% 

•uÀ «x Ámi 5%. {ø»ø© ÂÁμ® u¯õº ö\´P. 

 Section C  (3  10 = 30) 

Answer any three questions. 

16. The following is the Receipts and Payments Account of 
the Bombay club for the year ending Dec. 31, 1999. 

Receipts Rs. Payments Rs. 

To Balance b/d 600 By Rent 10,400

To Entrance fees 1,100 By Stationery, expenses etc., 6,136

To Subscription:  By Wages 10,660

 1998  400  By Billiards table  7,800

 1999  33,800  By Repairs and renewals 1,612

 2000   600 34,800 By Interest 3,000

To Lockers rent 1,000 By Balance c/d 4,792

To Special subscriptions 
for governor’s party 

 
6,900 

 

 44,400  44,400

 Lockers rent Rs. 120 refers to 1998 and Rs. 180 still owes; 
Rent Rs. 2,600 pertaining to 1998 and Rs. 2,600 still 
owes; stationery expense etc. Rs. 624 related to 1998; still 
owing Rs. 728; Subscriptions unpaid for 1999 Rs. 1,736. 
Special subscriptions for Governor’s party outstanding 
Rs. 1,100. The club owned sports materials of the value 
Rs. 32,000 on 1-1-1999. This was valued at Rs. 2,000 on 
31.12.1999. The Club has loan of Rs. 40,000 in 1998. 
Prepare the Income and Expenditure A/c for 1999 and 
Balance sheet as at Dec 31, 1999. 
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 ö£ÖuÀ ö\¾zuxÀ P/S, £®£õ´ PÇP® 31.12.99 AßÖ 

öPõkzxÒÍx. 

ö£ÖuÀ ¹. ö\¾zxuÀ ¹. 

C¸¨¦ R/öPõ 600 ÁõhøP 10,400

~øÇÄU Pmhn® 1,100 GÊxö£õ¸Ò ö\»ÄPÒ 6,136

\¢uõ :  T¼ 10,660

 1998  400  ¥À¼¯õºhÀ ÷©øá 7,800

 1999  33,800  ›¨÷£º ©ØÖ® ¦x¨¤zuÀ 1,612

 2000   600 34,800 Ámi 3,000

ö£mhP ÁõhøP 1,000 C¸¨¦ R/P 4,792

]Ó¨¦ \¢uõ, PÁºÚº 

Â¸¢x 

 

6,900 

 

 44,400  44,400

 ö£ÖuÀ ö\¾zxuÀ P/S, £®£õ´ PÇPzvß Bsk CÖv 

PnUS 31.12.99 AßÖ öPõkUP¨£mkÒÍx. ö£mhP 

ÁõhøP ¹. 120 – 1998 ©ØÖ® 180 öPõk£h÷Ási¯x. 

ÁõhøP ¹. 2,600 – 1998 ©ØÖ® ¹. 2,600 öPõk£h 

÷Ási¯x. GÊxö£õ¸Ò ö\»Ä ¹. 624 – 1998 

Á¸hzvØS›¯x. CßÖ® öPõk£h ÷Ási¯x ¹. 728. \¢uõ 

ö\¾zu ÷Ás¯ix 1999 – ¹. 1,736. PÁºÚº Â¸¢x \¢uõ 

öPõk£h÷Ási¯x ¹. 1,100 – 1.1.99  AßÖ ÂøÍ¯õmk 

ö£õ¸mPÒ EÒÍx ¹. 32,000. Auß ©v¨¦ ¹. 2,000 

31.12.99. PÇPzvß Phß ¹. 40,000 – 1998&À Á¸©Ú® 

©ØÖ® ö\»Ä PnUQøÚ ©ØÖ® C¸¨¦ {ø» SÔ¨ø£ u¯õº 

ö\´P. 31.12.99 AßÖ ö\´P. 

17. Mani has accepted the following bills drawn by Sharma :  
On 8.3.94 Rs. 8,000 For 4 months

On 16.3.94 Rs. 10,000 For 3 months

On 7.4.94 Rs. 12,000 For 5 months

On 17.5.94 Rs. 10,000 For 3 months
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 He accepts to pay all the bills on a single day. Find out 
this date. Interest is charged at 18% p.a. and Mani wants 
to save Rs. 300 by way of interest. Find out the date on 
which he has to effect the payment to save interest of  
Rs. 300. 

 ©o, \º©õÂß Esi¯ø» HØÖUöPõshõº. 

8.3.94 AßÖ ¹. 8,000 4 ©õuzvØS

16.3.94 AßÖ ¹. 10,000 3 ©õuzvØS

7.4.94 AßÖ ¹. 12,000 5 ©õuzvØS

17.5.94 AßÖ ¹. 10,000 3 ©õuzvØS

 AøÚzx Esi¯ø»²® J÷μ |õÎÀ ö\¾zu J¨¦U 

öPõshõº. Ax G¢u |õÒ GßÖ PnUQkP. Ámi 18% 

BsiØS, ©o ¹. 300, Ámi°À ÷\ªUP •øÚ¢uõº. A¢u 

¹. 300 Ámiø¯ ÷\ªUP AÁº G¢u |õÎÀ ö\¾zu ÷Ásk®. 

18. Bharat Exporters Co. of Calcutta consigned 800 Bales of 
Cotton goods to Shri. M. Inam of Mysore on 1-11-99. The 
cost price was Rs. 600 per bale but the consignment 
invoice was made out at a figure to show a gross profit of 
20% on invoice price. Sri Inam reported on 31-1-2000 that 
he had sold 3/4th of the consignment at a profit of 25% on 
sales and he had incurred Rs. 5,000 by way of freight and 
landing charges etc. and also Rs. 3,000 by way of godown 
rent on exclusive of his commission. Consignor spent  
Rs. 2,400 earlier as expense in dispatching the goods.  
Sri Inam was entitled to a commission of 5% on sales and 
20% of the net proceeds as bonus after charging up both 
the commission and the bonus. On 1-2-2000, Sri Inam 
sent a bank draft for the amounts so far due from him. 
Show the necessary ledger accounts in the books of 
Bharat Exporters Co. 
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 £õμz GUì÷£ºmì {ÖÁÚ®, PÀPmhõ 800 ö£À, £g_ 

ö£õ¸øÍ, ÿ C©õß, ø©`¸US 1.11.99 AßÖ AÝ¨¤Úõº. 

AhUP Âø» ¹. 600 ö£À BÚõÀ AÝ¨¤¯x 20% ö©õzu 

C»õ£® Chõ¨¦ øÁzx AÝ¨¤Úõº. C©õß 3/4 £[S 

31.1.2000 AßÖ ÂØ£øÚ ö\´x C¸¢uõº, Aøu 25% 

C»õ£® øÁzx ÂØ£øÚ ö\´x C¸¢uõº. AÁ›ß ö\»ÄPÒ 

¹. 5,000 – HØÖ ©ØÖ® CÓUS T¼. AÁº uμS°À C¸¢x 

¹. 3,000 ÷\ª¨¦ Qh[S ÁõhøP ö\¾zvÚõº. AÝ¨¦Úº  

¹. 2,400&ø¯ ö£õ¸mPøÍ AÝ¨¦®÷£õx AÝ¨¤ T¼ 

ö\´x C¸¢uõº. C©õÝUS 5% uμS ÂØ£øÚ «x®, 20% {Pμ 

ÂØ£øÚ°À, ÷£õÚì ©ØÖ® uμS u¢u ¤ÓS 1.2.2000, 

C©õß J¸ Á[Q ÁøμÄ uμ ÷Ási¯ öuõøPUS 

AÝ¨¤Úõº. £õμz GUì÷£ºmêß PnUSPÎÀ ÷£÷μkPÒ 

GÊxP. 

19. Anand and Basu entered into a joint venture agreement 
to share the profits and losses in the ratio of 2:1. Anand 
supplied goods worth Rs. 1, 20, 000 to Basu incurring 
expenses amounting to Rs. 4,000 for freight and 
insurance. During transit goods costing Rs. 10,000 
became damaged and a sum of Rs. 6,000 and recovered 
from the Insurance company. Basu reported that 90% of 
the remaining goods were sold at a profit of 30% on their 
original cost. Towards his end of the venture, a fire 
occurred and as a result the balance stock lying unsold 
with Basu was damaged. The goods were not insured and 
Basu agreed to compensate 80% of the aggregate of the 
original cost of such goods and proportionate expenses 
incurred. Apart from joint venture of profits, Basu was 
also entitled under the agreement to a commission of  
5% of net profit of joint venture after charging such 
commission. Selling expenses incurred by basutotalled 
Rs. 2,000. Basu has earlier remitted to Annand an 
advance of Rs. 20,000. Basu duly paid the balance due to 
Anand by draft. You are required to prepare necessary 
Ledger Account in the books of both the parties. 
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 £õ_ ©ØÖ® BÚ¢z C¸Á¸® Cøn {ÖÁÚ® öuõh[Q 

C»õ£ |mhzøu 2:1 ÂQuzvÀ ¤›UP \®©ÛzuÚº. BÚ¢z 

¹. 1,20,000 ©v¨¦ÒÍ ¹. 4,000 (HØÖ T¼ ©ØÖ® Põ¨¥k) 

ö\»Ä ö\´x AÝ¨¤Úõº. ö£õ¸mPÒ ö\À¾øP°À  

¹. 10,000 ©v¨¦ÒÍ ö£õ¸mPÒ |õ\©õÚuõÀ, Põ¨¥mk 

{ÖÁÚ® ¹. 6,000 AÎzux. £õ_ «u•ÒÍ ö£õ¸mPøÍ 90% 

Ãu® 30% AhUPÂø»°À C»õ£® øÁzx ÂØ£øÚ 

ö\´uõº. wiöμÚ HØ£mh w Â£zvÀ £õ_Âh® C¸¢x «x 

\μUS G›¢u |õ\©õÚx. \μUSUS Põ¨¥k°À»õuuõÀ,  

£õ_ 80% ö\´¯, Auß Aßø© Âø»°À, ©ØÓ 

ö\»ÂÚ[PøÍ²® ÂQuzvÀ \›Pmh \®©vzuõº. Cøn 

{ÖÁÚ® »õ£® uÂμ, £õ_ÂØS J¨£¢u£i 5% uμS, {Pμ 

C»õ£zvÀ A¢u uμSUS ¤ÓS uμ ÷Ásk®. ÂØ£øÚ 

ö\»ÄPÒ, £õ_ÂØS BÚx ¹. 2,000. £õ_ •ß÷£ BÚ¢vØS 

¹. 20,000 •ß£n® ö\¾zx EÒÍõº. £õ_ BÚ¢vØS «u® 

öuõøP ÁøμÄ Kø» ‰»® ö\¾zvÚõº. C¸Á›ß 

¦zuP[PÎ¾® ÷uøÁ¯õÚ ÷£÷μk GÊuÄ®. 

20. Arul keeps his books under Single entry. He gives the 
following particulars for the year 1983 : 

Particulars 1.1.83 
(Rs.) 

31.12.83
(Rs.) 

Stock 18,470 22,500

Bills Receivable 5,500 3,800

Bills payable 6,200 4,300

Furniture 2,100 –

Machinery 15,500 –

Debtors 13,200 16,000

Creditors 10,070 13,200

Summary of the Cash Book 
 Rs.  Rs. 

To Balance b/d 2,300 By Creditors 11,600

To Debtors 30,990 By Purchases 6,600

To Interest from investment 150 By Wages 5,400

To Furniture 450 By Salaries 6,000
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 Rs.  Rs. 

To Bills Receivable 8,250 By Rent 600

To Sales 10,300 By Investment 5,000

  By Insurance 600

  By Advertisement  500

  By Carriage inwards 250

  By Bill payable 9,400

  By Drawings 2,400

  By Furniture 200

  By Balance c/d 3,890

 52,400  52,400

 A reserve for doubtful is to be provided at 5% on debtors. 
Furniture and Machinery are to be depreciated at 10% 
Salaries Rs. 500 and Stationary expenses Rs. 150 are 
year to be paid. The prepaid insurance was Rs. 200. 
Interest accrued on investments was Rs. 75. Furniture 
the book value of Rs. 600 (1.1.83) was sold on  
September 30 and new furniture was purchased on the 
same date. Prepare the Trading and P & L A/c and 
Balance Sheet as on 31.12.83. 

 A¸Ò uß PnUSPøÍ JØøÓ £vÄ •øÓ°ß RÌ 

PnUSPøÍ øÁzxÒÍõº. 

Â£μ[PÒ 1.1.83
(¹.) 

31.12.83
(¹.) 

\μUS 18,470 22,500

ÁμÄUS›¯ Esi¯À 5,500 3,800

ö\¾zuØS›¯ Esi¯À 6,200 4,300

©μ©zx \õ©õßPÒ 2,100 –

C¯¢vμ® 15,500 –

PhÚõÎPÒ 13,200 16,000

PhÜ¢÷uõº 10,070 13,200
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öμõUP ¦zuP® 

 ¹.  ¹. 

C¸¨¦ R/öPõ 2,300 PhÜ¢÷uõº 11,600

PhÚõÎPÒ 30,990 öPõÒ•uÀ 6,600

•u½kPÒ «x Ámi 150 T¼ 5,400

©μ©zx 450 \®£Í® 6,000

ÁμÄUS›¯ Esi¯À 8,250 ÁõhøP 600

ÂØ£øÚ 10,300 •u½k 5,000

  Põ¨¥k 600

  ÂÍ®£μ® 500

  EÒ\zu® 250

  ö\¾zuØS›¯ Esi¯À 9,400

  Gk¨¦PÒ 2,400

  ©μ©zx 200

  C¸¨¦ P/C 3,890

 52,400  52,400

 I¯UPhß JxURk 5% PhÚõÎPÒ «x ©μ©zx, C¯¢vμ® 

÷u´©õÚ® 10% \®£Í® ¹. 500, GÊxö£õ¸Ò ö\»ÄPÒ  

¹. 150, öPõkUP ÷Ásk®. •ßTmi÷¯ ö\¾zu¨£mk 

Põ¨¥k ¹. 200. Ámi öuõS•u½k «x ¹. 75. 1.1.83  

AßÖ ©μ©zx ¹. 600 ¦zuP ©v¨¦, ÂØ£øÚ ö\´x  

30&Áx ö\¨h®£º AßÖ ¦x ©μ©zx Áõ[QÚõº. Â¯õ£õμ, 

C»õ£ |mhU PnUS ©ØÖ® C¸¨¦ {ø» SÔ¨¦ 31.12.83 

AßÖ u¯õº ö\´P. 

   
———————— 
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B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2019 

Second Semester 

Commerce with Computer Applications 

COMPUTER NETWORKS 

(CBCS – 2017 onwards) 

Time : Three Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is Computer Networks? 

 PoÛ Áø»¯ø©¨¦ GßÓõÀ GßÚ? 

2. What is a Protocol? 

 ö|Ô•øÓ GßÓõÀ GßÚ? 

3. What is MAC? 

 MAC GßÓõÀ GßÚ? 

4. What is a frame? 

 \mh® GßÓõÀ GßÚ? 

5. What do you mean by broadcasting? 

 J¼£μ¨¦ GßÓõÀ GßÚ? 

6. What is a router? 

 vø\Â GßÓõÀ GßÚ? 

Sub. Code 
7BCC2C2 
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7. What is TCP/IP? 

 TCP/IP GßÓõÀ GßÚ? 

8. What is DNS? 

 DNS GßÓõÀ GßÚ? 

9. Define encryption and decryption? 

 ©øÓUSÔ±hõUP® ©ØÖ® ©øÓÂ»UP® GßÓõÀ GßÚ? 

10. What is a Cipher? 

 §ä¯® GßÓõÀ GßÚ? 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Write a note on the different categories of network. 

   ¤øn¯zvß £À÷ÁÖ ¤›ÄPÒ £ØÔ GÊxP. 

Or 

 (b) Discuss on ARPANET. 

   ARPANET SÔzx Â£μ©õP GÊxP. 

12. (a) Explain one-bit sliding window protocol. 

   Kº&¤m ö|QÌ \õÍμzvß ö|Ô•øÓ £ØÔ ÂÍUP©õP 

GÊxP. 

Or 

 (b) Write short note on CSMA Protocol.  

   CSMA ö|Ô•øÓ £ØÔ ]Ö SÔ¨¦ ÁøμP.  
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13. (a) Discuss Hierarchical routing. 

   £i{ø» vø\©õØÖuÀ SÔzx ÂÁõvUPÄ®. 

Or 

 (b) Discuss shortest path routing. 

   SÖQ¯ £õøu vø\©õØÖuÀ SÔzx ÂÁõvUPÄ®. 

14. (a) Explain about Remote procedure call. 

   öuõø»{ø» ö\¯À•øÓ AøÇ¨¦ £ØÔ Â›ÁõP 

GÊxP. 

Or 

 (b) Discuss any two Mailing protocol. 

   H÷uÝ® Cμsk Ag\À ö|Ô•øÓ £ØÔ ÂÍUSP. 

15. (a) Discuss the fundamentals of Cryptography. 

   ©øÓö©õÈ°ß Ai¨£øh ÂvPÒ SÔzx 

ÂÁõvUPÄ®. 

Or 

 (b) Discuss about symmetric key Cryptography. 

   \©a^º Âø\SÔ¯õUPÂ¯À £ØÔ Â£μ©õP GÊxP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain about OSI reference model. 

 OSI SÔ¨¦ ©õv› £ØÔ Â›ÁõP GÊxP. 

17. Discuss Error detection and correction codes. 

 ¤øÇ PshÔuÀ ©ØÖ® v¸zu® SÔ±kPÒ SÔzx 

ÂÍUP©õP GÊxP. 
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18. Explain about any two switching technology. 

 H÷uÝ© Cμsk ©õØÖuÀ öuõÈÀ~m£zvøÚ Â›ÁõP 

GÊxP. 

19. Discuss congestion control algorithm. 

 ö|›\À Pmk£õmk ÁÈ•øÓ SÔzx Â›ÁõP GÊxP. 

20. Explain the two categories of Encryption methods.  

 ©øÓÂ»UP •øÓPÎÀ H÷uÝ® Cμsk ¤›ÄPÒ SÔzx 

ÂÍUP©õP GÊxP. 

 

 
———————— 
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TALLY 
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Time : 3 hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is the meaning of “Integrate accounts and 
inventory”? 

 “PnUSPÒ ©ØÖ® \μUSPøÍ J¸[QønzuÀ” GßÓõÀ 

GßÚ? 

2. List out the features of order processing. 

 Bøn ö\¯»õUPÎß vÓßPøÍ £mi¯¼kP. 

3. Name the type of voucher for bank transactions. 

 Á[Q £›ÁºzuøÚ°ß ^mkÁøPø¯ SÔ¨¤kP. 

4. What are the primary groups of capital nature? 

 ‰»uÚ C¯À¤ß •ußø© SÊUPÒ ¯õøÁ? 

5. What is Voucher Entry? 

 μ^x £vÄ GßÓõÀ GßÚ? 

6. What is Optional Voucher? 

 Â¸¨£μ^x GßÓõÀ GßÚ? 

Sub. Code 
7BCC3C1 
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7. What is Trail Balance? 

 ÷\õuøÚ \©{ø» GßÓõÀ GßÚ? 

8. What is cash/bank book(s)? 

 £n®/ Á[Q ¦zuP® GßÓõÀ GßÚ? 

9. What is HTML? 

 HTML GßÓõÀ GßÚ? 

10. What is URL? 

 URL GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain Double Entry System. 

  Cμmøh £vÄ •øÓ £ØÔ ÂÁ›. 

Or 

 (b) Explain the role of computer in accounting. 

  PnUQ¯¼À Poo°ß £[øP ÂÁ›. 

12. (a) Write short notes on types of budgets? 

  ÁμÄö\»Äzvmhzvß ÁøPPÒ £ØÔ ]ÖSÔ¨¦ – 

ÁøμP. 

Or 

 (b) Explain Payment and Receipt Vouchers with 
example. 

  Pmhn® ©ØÖ® μ^x EÖva^mkPÒ £ØÔ 

Euõμnzxhß ÂÁ›. 

13. (a) How to create purchase order voucher? 

  öPõÒ•uÀ Bønμ^x – I GÆÁõÖ u¯õ›¨£x. 

Or 

 (b) How to enter sales invoice? 

  ÂØ£øÚÂø»¨£mi¯ø» GÆÁõÖ ¤μ÷Á]¨£x? 
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14. (a) Write a note on cash flow statement. 

  £n¨£õ´Ä AÔUøP £ØÔ SÔ¨¦ GÊxP. 

Or 

 (b) Write a note on movement analysis. 

  C¯UP® £S¨£õ´Ä £ØÔ SÔ¨¦ GÊxP. 

15. (a) Write a note on backup and restore of data. 

  uμøÁ GÆÁõÖ ‘Põ¨£x ©ØÖ® «möhk¨£x’ Gß£x 

£ØÔ SÔ¨¦ ÁøμP. 

Or 

 (b) Write a note on group Company. 

  SÊ {ÖÁÚ® £ØÔ SÔ¨¦ GÊxP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain Inventory Features in Tally? 

 Tally –°À \μUS A®\[PøÍ £ØÔ ÂÁ›. 

17. Explain costing methods. 

 ö\»Ä •øÓPÒ £ØÔ ÂÁ›. 

18. How to prepare balance sheet in tally? 

 C¸¨¦ {ø»SÔ¨¦ – I Tally–°À GÆÁõÖ u¯õ›¨£x. 

19. Explain printing configuration. 

 Aa]k® Pmhø©¨¦ £ØÔ ÂÁ›. 

20. Explain ODBC. 

 ODBC £ØÔ ÂÁ›. 

—————— 
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C– PROGRAMMING 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is data declaration? 

 uμÄ AÔÂ¨¦ GßÓõÀ GßÚ? 

2. What is modulus operator? 

 uÛ©v¨¦ ö\¯ØSÔPÒ GßÓõÀ GßÚ? 

3. What is an assignment operator? 

 {¯ª¨¦ ö\¯ØSÔPÒ GßÓõÀ GßÚ? 

4. Write about increment  and decrement operators? 

 AvP›zuÀ ©ØÖ® SøÓzuÀ ö\¯ØSÔPÒ £ØÔ GÊxP. 

5. How to declare an array? 

 J¸ Aoø¯ GÆÁõÖ AÔÂ¨£x? 

6. What is the purpose of main() function? 

 uø»ø©¯õÚ [Main ()] ö\¯ÀTÔß ÷|õUP® GßÚ? 

Sub. Code 
7BCC3C2 
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7. How will you initialize a pointer? 

 J¸ _mk ©õÔø¯ GÆÁõÖ ©v¨¤°¸zxÁx? 

8. Write about period operator. 

 period ö\¯ØSÔ £ØÔ GÊxP. 

9. What is getchar and putchar? 

 getchar ©ØÖ® putchar GßÓõÀ GßÚ? 

10. What is a register variable? 

 register ©õÔ GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b).  

11. (a) Explain about arithmetic operators in C. 

  C–ö©õÈ°À Po¨¤¯À ö\¯ØSÔPøÍ £ØÔ ÂÁ›. 

Or 

 (b) Explain the rules of naming a variable. 

  J¸ ©õÔø¯ ö£¯›k® ÂvPÒ £ØÔ GÊxP. 

12. (a) Explain about looping statement with example. 

  ÁøÍÄ TØÖ £ØÔ Euõμnzxhß ÂÁ›. 

Or 

 (b) Explain about decision making statements with 
example. 

  wº©õÛ¨¦ TØÖPÒ £ØÔ Euõμnzxhß ÂÁ›. 

13. (a) What is the difference between string and character 
array? 

  \μ® ©ØÖ® GÊzx Ao°ß EÒÍ ÷ÁÖ£õkPÒ GßÚ? 

Or 

 (b) Write a program in C to generate Fibonacci Series, 
using function.  

  C–ö©õÈ°À, ö\¯Ø£õmøh £¯ß£kzv Fibonacci 
öuõhøμ E¸ÁõUP J¸ {μÀ GÊxP. 
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14. (a) What are the advantages of using pointers?  

  _mk ©õÔPøÍ £¯ß£kzxÁuõÀ HØ£k® |ßø©PÒ 

¯õøÁ? 

Or 

 (b) How does a structure differ from an array? 

  Ao°¼¸¢x Pmhø©¨¦ GÆÁõÖ ÷ÁÖ£kQÓx? 

15. (a) Explain the limitations of the functions getc and 
putc. 

   getc ©ØÖ® putc ö\¯À£õkPÎÀ EÒÍ Áμ®¦PøÍ 

ÂÁ›. 

Or 

 (b) Explain typedef. 

  typedef £ØÔ ÂÁ›. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Describe the four basic data types. 

 |õßS Ai¨£øh uμÄ ÁøPPÒ £ØÔ ÂÍUQ²øμP. 

17. Write a program in C to swap two numbers using a 
temporary variable. 

 J¸ uØPõ¼¯ ©õÔø¯ £¯ß£kzv, Cμsk GsPøÍ 

Ch©õØÓ® ö\´ÁuØS C–ö©õÈ°À J¸ {μÀ GÊxP. 

18. Write a program in C to create a dictionary of students 
with roll numbers. 

 Á›ø\ GsPÐhß ©õnÁºPÎß APμõvø¯ E¸ÁõUP           

C–ö©õÈ°À J¸ {μÀ GÊxP. 
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19. Explain the meaning and purpose of the following. 

 (a) Printf (b) Scanf  

 (c) Strcat (d) Strlen  

 (A) Printf (B) Scanf  

 (C) Strcat (D) Strlen BQ¯ÁØÔß ö£õ¸Ò ©ØÖ® 

÷|õUPzvøÚ ÂÁ›. 

20. Describe file input and output in detail. 

 ÷Põ¨¦ EÒÏk ©ØÖ® öÁÎ±k £ØÔ Â›ÁõP GÊxP. 

—————— 
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BUSINESS STATISTICS 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What are the functions of statisties? 

 ¦ÒÎ°¯À ö\¯À£õkPÒ ¯õøÁ? 

2. Define primary secondary data. 

 •uÛø», Cμshõ® {ø» ÂÁμ[PÒ Áøμ¯Ö. 

3. State law of inertia of large numbers. 

 ö£›¯ GsPÎß {øÓzußø© ÂvPÒ TÖP? 

4. What is sampling error? 

 TöÓk¨¦ ¤øÇ GßÓõÀ GßÚ? 

5. Write down the formula for lower quartile in the case of 
continuous series 

 öuõhº¢u öuõSv°À •uÀ PõÀ©õÚ `zvμ® GÊxP. 

6. What are the merits and limitations of Harmonic mean? 

 íõº÷©õÛU \μõ\›°ß |ßø©PÒ ©ØÖ® Áμ®¦PÒ GßÚ? 

Sub. Code 
7BCC3C3 
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7. What do you understand by skewners? 

 ÷PõnÀ £ØÔ ÂÁ›UP. 

8. What is position correlation, negative correlation? 

 ÷|›øh, Gv›øh Ehß öuõhº¦ GßÓõÀ GßÚ? 

9. What are regression coefficients? Point out their 
important properties? 

 ¤ßÚøhÄ SnP® GßÓõÀ GßÚ? Auß •UQ¯ £s¦PÒ 

¯õøÁ? 

10. Define consumer price index number. 

 ~Pº÷Áõº Âø» SÔ±mk Gs GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain briefly the parts of a table. 

  AmhÁøn £SvPøÍ _¸UP©õP ÂÍUSP. 

Or 

 (b) Explain one dimensional diagram with an example. 

  J¸ £›©õn Áøμ£h® £ØÔ GkzxUPõmkß ÂÍUSP. 

12. (a) Obtain the value of median from the data of 
monthly income of 10 employees of a company in Rs. 

  RÌPsh ÂÁμ® J¸ {ÖÁÚzvß 10 FÈ¯ºPÎß ©õu 

Á¸©õÚ® öPõkUP¨£mhx. CÁØÔß Cøh{ø» 

©v¨¦ PõsP. 

14391 15384 25591 15407 16672

26522 16777 26753 27850 37490

Or 
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 (b) Find the value of the quartile deviation and its 

coefficient from the following data. 

  ¤ßÁ¸® ÂÁμ[PÐUS Põ»©õÚ Â»UP® ©ØÖ® 

Põ»©õÚ Â»UP® öPÊ ©v¨¤kP. 

Roll No 

Á›ø\ Gs 

1 2 3 4 5 6 7 

Marks 

©v¨ö£sPÒ 

20 28 40 12 30 15 50

13. (a) Write down the differences between correlation and 
regression. 

  Ehßöuõhº¦UöPÊ, ¤ßÚøhÄ öuõhº öPÊ 

CøÁ°øh÷¯ EÒÍ Âzv¯õ\[PÒ SÔ¨¦ ÁøμP. 

Or 

 (b) Find the data given below, calculate regression 
equation of Y on X. 

  R÷Ç öPõkUP¨£mh ÂÁμ[PÐUS Y «x X °ß 

¤ßÚøhÄ \©ß£õk PõsP. 

X 6 2 10 4 8

Y 9 11 5 8 7

14. (a) Construct index number by Fishers ideal method. 

  ¤åº SÔ±möhs PnUQkP. 
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2010 2011 Commodity 

ö£õ¸Ò 
Price

Âø»

Quantity 

AÍÄ 

Price

Âø»

Quantity

AÍÄ 

A 20 8 40 6 

B 50 10 60 5 

C 40 15 50 15 

D 20 20 20 25 

Or 

 (b) Explain Factor Reversal Test. 

  Põμo ©õØÖ ÷\õuøÚ¨ £ØÔ ÂÍUSP. 

15. (a) Calculate the 3 yearly moving average for the yearly 
production of a company given below. 

  ¤ßÁ¸® öuõÈØ\õø» EØ£zvUS 3 Bsk |P¸® 

\μõ\› PõsP. 

Year 

Bsk 

1971 1972 1973 1974 1975 1976 1977

Production 

EØ£zv 

80 90 92 83 94 99 92 

Or 

 (b) Convert the following trend equation on a monthly 
basis. 

  RÌPsh ÷£õUS \©ß£õmøh ©õu Ai¨£øh°À 

©õØÖP. 

  264.08.06.10 xxY  . 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. Discuss the sources of secondary data. 

 Cμshõ® {ø» Buõμ[PÒ £ØÔ ÂÁõvUP. 

17. Find the mean, median and mode for the distribution. 

 öPõkUP¨£mh £μÁ¾US TmkU \μõ\›, Cøh{ø» ©ØÖ® 

•Pk PõsP. 

X: 0-10 10-20 20-30 30-40 40-50

F: 12 18 20 25 23 

18. Calculate rank correlation for the following data. 

 ¤ßÁ¸® ÂÁμ[PÒ uμÁ›ø\ Ehß öuõhº¦öPÊ 

PnUQkP. 

Price of Tea  

j. Âø» (Rs.) 

75 85 95 70 60 80 81 50 

Price of Coffee 

Põ¤ Âø» (Rs.) 

120 134 150 115 110 140 142 100

19. The following are the index numbers of prices. 

Year 

 

Index 

 

Year 

 

Index

 

2002 100 2007 410 

2003 110 2008 400 

2004 120 2009 380 

2005 200 2010 370 

2006 400 2011 340 

 Shift the base from 2002 to 2008 and recast the index 
number. 
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 ¤ßÁ¸® ÂÁμ[PÒ Âø» \õº¦ SÔ±mk Gs GÚ¨£k® 

Bsk SÔ±möhs Bsk SÔ±möhß

2002 100 2007 410 

2003 110 2008 400 

2004 120 2009 380 

2005 200 2010 370 

2006 400 2011 340 

 2002 Bsi¼¸¢x 2008 US uÍzøu ©õØÔ ¤ß 

SÔ±möhs ©ÖÁiÁø©UP. 

20. The sale of a commodity in million tonnes from January 
2013 to December 2013 is given in the following manner: 
Fit a straight line trend by the method of semi averages. 

 J¸ ö£õ¸Îß ÂØ£øÚ¯õÚx áÚÁ› 2013 i\®£º 2013, 

ªÀ¼¯ß hßPÎÀ SÔUP¨£mkÒÍx £õva\μõ\› •øÓ 

£¯ß£kzv ÷|º÷Põmk ÷£õUQøÚ PõsP. 

280 300 280 280 270 240

230 230 220 200 210 200

———————— 
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F–2438   

B.Com (CA) DEGREE EXAMINATION, NOVEMBER 2019 

Third Semester 

Commerce with Computer Applications 

ADVANCED ACCOUNTANCY - III 

(CBCS – 2017 onwards) 

Time :  3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Define partnership. 

 Tmhõsø© Áøμ¯Ö. 

2. What is revaluation account? 

 ©Ö©v¨¥kPnUS GßÓõÀ GßÚ? 

3. What do you mean by goodwill? 

 |Øö£¯º GßÓõÀ GßÚ? 

4. Who is an incoming partner? 

 EÒÁ¸ TmhõÎ Gß£Áº ¯õº? 

5. What is Joint Life Policy? 

 Tmk B²Ò Põ¨¥mk vmh® GßÓõÀ GßÚ? 

6. When will you prepare the Revaluation Account? 

 ©Ö©v¨¥k PnUøP G¨÷£õx } u¯õ›¨£õ´? 

Sub. Code 
7BCC3C4 
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7. What do you understand by Dissolution of Partnership? 

 Tmhõsø© Pø»¨¦ £ØÔ }Âº AÔÁx ¯õx?  

8. What do you understand by piece meal distribution of 

cash? 

]Ôx ]ÔuõP £Qº¢uÎUS® öμõUP® £ØÔ }Âº AÔÁx 

¯õx?  

9. State the modes of dissolution of a partnership firm. 

 J¸ Tmhõsø© {ÖÁÚzøu Pø»¨£uØPõÚ 

ÁÈ•øÓPøÍU TÖ. 

10. Explain the meaning of insolvency of a partner. 

 J¸ TmhõÎ vÁõÀ Gß£v»ß ö£õ¸øÍ ÂÍUSP. 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) P, Q, and R sharing profits in the ratio of 2:2:1. Q 

retires and the new profits ratio agreed between the 

continuing partners ‘p’ and R is 4:3. Calculate 

gaining ratio? 

   P, Q, R GßÓ TmhõÎPÒ 2:2:1. GÝ® ÂQuzvÀ 

C»õ£® £Qº¢x Á¢uÚº Q Â»Q¯Ähß öuõh¸® 

TmhõÎPÎß P  ©ØÖ® R ¦v¯ C»õ£ £QºÄ ÂQu®  

4:3. Buõ¯ ÂQu® PnUQkP. 

Or 
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 (b) A and B were partners sharing profits in the ratio 
5:3. In view of C’s admission, they decided to 
revalue their assets and liabilities as indicated 
below: 

          (i)  To increase for doubtful debts to be decreased 
by Rs. 50,000. 

          (ii)  Provision for doubtful debts to be decreased by 
Rs. 600. 

          (iii)  To decrease machinery by Rs. 10,000, 
furniture by Rs. 4,000 and stock by Rs. 8000. 

          (iv)  A provision for outstanding liabilities was to 
be create for Rs. 500. 

          (v)  A goodwill account is to be raised in the books 
of the firm at Rs. 24,000. Give journal entries. 

   A,B GßÓ TmhõÎPÒ 5:3. GÝ® ÂQuzvÀ C»õ£® 

|mh® £Qº¢x Á¢uÚº. C Gß£Áøμ 

AUThhõsø©°À ÷\ºzxU öPõÒÁøu •ßÛmk 

AÁºPÒ AÁºPÍx ö\õzxUPøÍ²® ö£õÖ¨¦PøÍ²® 

¤ßÁ¸©õÖ ©Ö©v¨¥k ö\´¯ •iÄ ö\´uÚº. 

   (i) {»® Pmih ©v¨ø£ ¹. 50,000 AvP¨£kzu 

÷Ásk®. 

   (ii) I¯UPhß JxUøP ¹. 600 SøÓUP ÷Ásk®. 

   (iii) C¯¢vμ ©v¨ø£ ¹. 10,000&® AøÓP»ß 

©v¨ø£ ¹. 4000&® \μUQ¸¨¦ ©v¨ø£  

¹. 8000&•® SøÓUP ÷Ásk®. 

   (iv) öPõk£hõ©¾ÒÍ ö£õÖ¨¦PÒ ¹. 500/-& US ÁøP 

ö\´¯ ÷Ásk®. 

   (v) {ÖÁÚzvß HkPÎÀ |Øö£¯›ß ©v¨¦ ¹. 

24,000 GÚ ©v¨¤h¨£kQÓx. 

    CÁØøÓ ö\¯À£kzxÁuØS›¯ SÔ¨÷£mk¨ 

£vÄPÒ u¸P.  
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12. (a) A and B are partners in a firm. They share profits 
and losses in the ratio of 3:1. Their balance sheet is 
as follows: 

Liabilities Rs. Assets Rs. 

Capital A 80,000 Buildings 1,00,000

             B 40,000 Plant 25,000

Reserve 40,000 Stock 40,000

Creditors 60,000 Debtor 70,000

Bills payable 20,000 Cash 5,000

 2,40,000  2,40,000

           C is admitted into partnershhip for 1/5th share of 
the business on the following terms. 
 (i) Building is revalued at Rs. 1,20,000 
 (ii) Plant is depreciated to 80% 
 (iii) Provision for bad debts is made at 5% 
 (iv) Stock is revalued at Rs. 30,000.         

  C should introduce 50% of the adjusted capital of 
both A and B. Prepare important Ledger Accounts. 

  A ©ØÖ® B C¸Á¸® J¸ {ÖÁÚzvÀ EÒÍ 

TmhõÎPÒ AÁºPÒ C»õ£ |mh[PøÍ  3:1 GßÓ 

ÂQuzvÀ £Qº¢x öPõshÚº. AÁºPÍx C¸¨¦ 

{ø»U SÔ¨¦ ¤ßÁ¸©õÖ  

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

•uÀ      A 80,000 Pmih® 1,00,000

             B 40,000 uÍÁõh® 25,000

Põ¨¦ 40,000 \μUQ¸¨¦ 40,000

PhÜ¢÷uõºPÒ 60,000 PhÚõÎPÒ 70,000

ö\¾zuØS›¯ ©õØÖa ^mk 20,000 öμõUP® 5,000

 2,40,000  2,40,000



F–2438 

  

  5

WS19

  ¤ßÁ¸® {£¢uøÚ[PÐUSm£mk Gß£Áº C 1/5 

£[S »õ£zvÀ Tmhõsø©°À ÷\ºzxU 

öPõÒÍ¨£mhõº.  

  (i) Pmih® ¹. 1,20,000 US ©Ö©v¨¥h 

ö\´¯¨£mhx. 

  (ii) uÍÁõh® 80% US SøÓUP¨£mhx 

  (iii) ÁõμõUPhß JxUS 5% E¸ÁõUSP. 

  (iv) \μUQ¸¨¦ ¹. 30,000 GÚ ©Ö©v¨¥k 

ö\´¯¨£mhx. 

   C,A °ß ©ØÖ® B °ß •u¼øÚ \›UPmh 50% 
\uÃu® uμ÷Ásk®. •UQ¯ ÷£÷μmk 

PnUSPøÍ u¯õ›UP. 

Or 

 (b) From the following distribute cash under 
proportionate capital method: 

          Capital of partners : Amir – Rs.20,000 ;  
Balan – Rs. 10,000 profit sharing ratio 3:2 

           Ist instalment (cash) – Rs. 5,000 

           IInd instalment (Cash) – Rs. 4,000 

           IIIrd instalment(cash) – Rs. 2,000 

   RÌÁ¸® ÂÁμ[PøÍU öPõsk ÂQuõ\õμ •u»õUP 

•øÓ¨£i öμõUPzøu £Qº¢uÎ. 

   TmhõÎPÎß •uÀ : A«º–¹. 20,000, £õ»ß –  

¹. 10,000  

   C»õ£ ÂQu® 3:2 

   •uÀ uÁøn (öμõUP®) – ¹. 5,000 

   Cμshõ® uÁøn (öμõUP®) – ¹. 4,000 

   ‰ßÓõ® uÁøn (öμõUP®) – ¹. 2,000 



F–2438 

  

  6

WS19

13. (a) A firm earns Rs. 1,20,000 as its annual profits, the 
rate of normal profit being 10%. The assets of the 
firm amount to Rs. 14,40,000 and liabilities to Rs. 
14,40,000 and liabilities to Rs. 4,80,000. Find out 
the value of goodwill by capitalization method. 

   J¸ {ÖÁÚ® Dmk® Á¸hõ¢vμ C»õ£® ¹. 1,20,000 

C¯À¦ C»õ£ ÂQu® 10% A¢u {ÖÁÚzvß 

ö\õzxUPÒ ¹. 14,40,000 ©ØÖ® ö£õÖ¨¦PÒ ¹. 

4,80,000. •u»õUP •øÓ°ß |Øö£¯øμ Psk¤i. 

Or 

 (b) X, Y and Z were partners sharing profits in the ratio 
of 2:2:1. ‘Z’ retires and his share was taken up by X 
and Y in the ratio of 3:2. Calculate the gaining ratio 
of X and Y. 

   X, Y & Z BQ¯ TmhõÎPÒ C»õ£zøu £QºÁx 

•øÓ÷¯ 2:2:1 X ©ØÖ® Y Â»Q Âmhõº. AÁ¸øh¯ 

£[øP ©ØÖ® GkzxU öPõÒÐ® C»õ£ ÂQu® 3:2 

©ØÖ® BQ¯÷¯õ›ß Buõ¯ ÂQuzøu PnUQkP. 

14. (a) The balance sheet of X Y and Z were sharing profits 
in the ratio of 3:1:1 stood as follows on 31.12.99 i.e., 
the date of dissolution. 

Liabilities Rs. Assets Rs. 

Sundry liabilities 1,05,000 Cash 1,000

X's capital 15,000 Debtors 29,000

Y's capital 10,000 Stock 40,000

  Plant 30,000

  Goodwill 10,000

  Z's capital 20,000

 1,30,000  1,30,000

  Asset realized Rs. 79,750. Realisation expenses are 
Rs. 2,000. Prepare realisation account. 
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   31.2.99. AßÖ {ÖÁÚ Pø»¨¤ß ÷£õx X & Y 

TmhõÎPÎß C¸¨¦ {ø» SÔ¨¦ Á¸©õÖ. AÁºPÒ 

C»õ£zøu £Qº¢x öPõÒÁx 3:1:1 BS®.  

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

£Ø£» ö£õÖ¨¦PÒ 1,05,000 öμõUP® 1,000

•uÀ X 15,000 PhÚõÎPÒ 29,000

     Y 10,000 \μUQ¸¨¦ 40,000

  ö£õÔ 30,000

  |Øö£¯º 10,000

  Z •uÀ 20,000

 1,30,000  1,30,000

   ö\õzxUPÒ ÂØÓx ¹. 79,750. wºÄ ö\»ÄPÒ ¹. 2,000 

PnUøP u¯õº ö\´P. 

Or 

 (b) Kalavathi and Malathi are partners sharing profits 

in the ratio of 4:3. Leelathi is admitted for 1/3rd 

share of profits. Goodwill of the firm is to be value 

at 2 years purchase of 3 year’s profits which have 

been Rs. 44,000, Rs. 56,000, Rs. 68,000. Give 

Journal entries if 

          (i)  There is no goodwill in the books of the firm. 

  (ii)  The Good will account appears at Rs. 28,000 

  (iii)  The goodwill already existing in the books of 

Rs. 1,68,000     
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   P»õÁv, ©õ»v GßÓ TmhõÎPÒ •øÓ÷¯ 4:3 GÝ® 

ÂQuzvÀ C»õ£® £Qº¢x Á¢uÚº. ½»õÁv Gß£Áøμ 

1/3  TmkUSa ÷\ºzxU öPõshÚº. |Øö£¯º ‰ßÖ 

BskPÎß \μõ\› C»õ£zvÀ Cμsk Bsk 

öPõÒ•uÀ GÚUöPõsk ©v¨¤h¨£mhx. ‰ßÖ 

BskPÎß C»õ£[PÒ •øÓ÷¯ ¹. 44,000, ¹. 56,000  

¹. 68,000 BS®. RÌPõq® u¸n[PÎß SÔ¨÷£mk¨ 

£vÄPøÍz u¸P. 

  (i)  |Øö£¯º CxÁøμ HkPÎß CÀ»õ©¼¸¢uõÀ 
  (ii)  HkPÎÀ |Øö£¯›ß ©v¨¦ ¹. 28,000 GÚU 

Põmh¨£mi¸¢uÀ 
  (iii)  HkPÎÀ |Øö£¯›ß ©v¨¦ ¹. 1,68,000 

GÚUPõmh¨£mi¸¢uõÀ.    

15. (a) From the following distribute cash under 
proportionate capital method: 

  Capital of Partners : Amir     –     Rs. 20,000 
         Balan   –      Rs. 10,000  
  Profits sharing ratio         –      3:2 
  First installment (cash)         –     Rs. 5,000 
  Second installment (cash)      –     Rs. 4,000 
  Third installment (cash)        –     Rs. 2,000        

   RÌÁ¸® ÂÁμ[PÒ öPõsk öμõUPzøu ÂQuõa\õμ 

•u»õUP •øÓ¨£i GÆÁõÖ £Qº¢uÎ¨£õ´. 

  TmhõÎPÎß •uÀ : A«º        –      ¹. 20,000 

         £õ»ß     –      ¹. 10,000  

  C»õ£ £QºÄ ÂQu®            –      3:2 

  •uÀ uÁøn öμõUP®            –     ¹. 5,000 

  Cμshõ® uÁøn öμõUP®       –     ¹. 4,000 

   ‰ßÓõ® uÁøn öμõUP®          –     ¹. 2,000 

Or 
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 (b) The profit and losses for the last 3 years of a firm 
are given below: 

  2009  –  Rs. 64,000 
  2010  –  Rs. 72,000  
  2011  –  Rs. 74,000 

  The capital employed in the firm is Rs. 2,40,000. 
The rate of return on investments are expected from 
capital employed is 10%. Calculate goodwill is to be 
valued at three years purchase of super profits 
based on 3 years profit 

  Ph¢u ‰ßÖ BskPÎÀ J¸ {ÖÁÚ® Dmi¯ C»õ£ 

Â£μ® ¤ßÁ¸® 
  2009  –  ¹. 64,000 
  2010  –  ¹. 72,000  
  2011  –  ¹. 74,000 
   {ÖÁÚzvÀ •u½k ¹. 2,40,000 •u½miØS EÒÍ 

A£õ¯zøuU P¸zvÀ öPõsk £õºUS® ö£õÊx Ax 

{¯õ¯©õP 10% «Ò ÁμøÁzu¸® GÚ 

Gvº¨£õºUP¨£kQÓx. ]Ó¨¦ C»õ£[PÎß 3 

BskPÎß öPõÒ•uÀ Ai¨£øh°À |Øö£¯›ß 

©v¨ø£ PnUQkP. 

 Part C  (3  10 = 30) 
Answer any three questions. 

16. Pallavan, Pandiyan and Chozan were carrying on 
partnership business sharing profits in the ratio of 3:2:1 
on 31st March 2005, the Balance Sheet of the firm stood 
as follows:  

Liabilities Rs. Assets Rs. 

Creditors 30,000 Bank 65,000

General Reserve 15,000 Debtors 40,000

Capital :  Stock 80,000

Pallavan 2,00,000 Building 2,50,000

Pandiyan 1,20,000 P&L a/c 30,000

Chozhan 1,00,000  

 4,65,000  4,65,000
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 Chozhan retired on April 1, 2005 on the following terms. 

 (a) Building to be appreciated by Rs. 15,000 

 (b) Provision for doubtful debts to be made at 6% on 
debtors. 

 (c) Goodwill of the firm is valued at 18,000. 

 (d) Rs. 50,000 to be paid to Chozan immediately and 
the balance transferred on his load account.  

  Prepare Revaluation Account, Capital A/C, Bank   
A/C and the Balance Sheet after Chozan’s 
retirement. 

  £À»Áß £õsi¯ß ÷\õÇß GßÓ TmhõÎPÒ 

•øÓ÷¯ 3:2:1 GÝ® ÂQuzvÀ C»õ£® £Qº¢x 

öuõÈÀ ¦›¢x Á¢uÚº. 2005, ©õºa 31&B® |õøÍ¯ 

C¸¨¦ {ø»U SÔ¨¦ ¤ßÁ¸©õÖ: 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

PhÜ¢÷uõº 30,000 Á[Q 65,000

ö£õxUPõ¨¦ 15,000 PhÚõÎPÒ 40,000

•uÀ  \μUQ¸¨¦ 80,000

£À»Áß 2,00,000 Pmhh® 2,50,000

£õsi¯ß 1,20,000 C»õ£|mh P/S 30,000

÷\õÇß  1,00,000  

 4,65,000  4,65,000

 ¤ßÁ¸® {£¢uøÚPÑUS Em£mk ÷\õÇß Gß£Áº 2005, 

H¨μÀ 1 AßÖ Â»QÚõº. 

 (A) Pmih® ¹. 15,000 GÚ ©v¨¤kÁx. 

 (B) PhÚõÎPÒ «x I¯UPhß JxUS 6% E¸ÁõUSÁx. 
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 (C) |Øö£¯º ¹. 18,000 GÚ ©v¨¤kÁx. 

 (D) ÷\õÇß Gß£Á¸USa ÷\μ ÷Ási¯ öuõøP°À  

¹. 50,000 EhÚi¯õPÄ®, «vzöuõøP AÁ›ß Phß 

PnUSUS® ©õØÓ¨£mhx. 

  ©Ö©v¨¥k P/S •uÀ P/S. Á[Q P/S ©ØÖ® 

÷\õÇÛß Â»P¾US ¤ß ¦v¯ C¸¨¦ {ø»U SÔ¨¦ 

u¯õº ö\´P. 

17. X, Y and Z are equal partners whose balance sheet on 
December 31, 2006 is as follows: 

Liabilities Rs. Assets Rs. 

Sundry Creditors 5,000 Cash 50

X's loan 1,000 Stock 800

Capital a/c's:  Debtors 1,000

X-800  Plant and machinery 2,000

Z-500 1,300 Furniture and Fittings 800

  Land and Building 2,000

  Y's capital (overdrawn) 650

 7,300  7,300

 Due to lack of liquidity and weak financial position of the 
partners the firm is dissolved. X and Z are not able to 
contribute anything and sum of Rs. 200 is received from 
Y. All of them are declared insolvent. The assets are 
realized, stock – Rs. 500, Plant and Machinery –  
Rs. 1,000, Furniture and Fittings – Rs. 200, Land and 
Buildings – Rs. 800 and Debtors – Rs. 550 only. 
Realisation expenses amounted to Rs. 50. You are 
required to close the firm’s books. 
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 X, Y & Z BQ¯ TmhõÎPÒ \©©õÚ ÂQuzvÀ C»õ£ |mh® 

£Qº¢uÚº. AÁºPÐøh¯ 31.12.2006 &® |õøÍ¯ C¸¨¦ 

{ø»U SÔ¨¦ ¤ßÁ¸©õÖ:  

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

£Ø£» PhÜ¢÷uõº  5,000 øP°¸¨¦ öμõUP® 50

GUì Phß 1,000 \μUQ¸¨¦ 800

•uÀ :  PhÚõÎPÒ 1,000

X-800  ö£õÔ C¯¢vμ® 2,000

Z-500 1,300 AøÓP»ß ö£õ¸zxUPÒ 800

  {»® ©ØÖ® Pmih® 2,000

  Y&ß •uÀ (÷©À Áøμ¨£ØÖ) 650

 7,300  7,300

 TmhõÎPÒ ©ØÖ® {ÖÁÚzvß {v {ø»ø© \›°À»õu 

PõμnzuõÀ {ÖÁÚ® Pø»UP¨£mhx. GUì ©ØÖ® C\ìm & 

°hª¸¢x AÁºPÎß ö\õ¢u ö\õzv¼¸¢x Hx® ö£Ó¨£h 

•i¯ÂÀø». BÚõÀ Y °hª¸¢x ©mk® ¹. 200 Á`À 

ö\´¯¨£mk, AøÚzx TmhõÎPÐ® vÁõ»õÚÁºPÍõP 

AÔÂUP¨£mhx. ö\õzxUPÒ ¤ßÁ¸©õÖ ©v¨¥k 

ö\´¯¨£mhx \μUQ¸¨¦ ¹. 500, ö£õÔ C¯¢vμ® – ¹. 1,000, 

AøÓP»ß ö£õ¸zxPÒ ¹. 200, {»® Pmih® ¹. 800 ©ØÖ® 

PhÚõÎPÒ – ¹. 550 ©Ö©v¨¥k ö\»Ä – ¹. 50 BS®. 

÷uøÁ¯õÚ {ÖÁÚU PnUSPøÍ •iUPÄ®.  

18. A and B sharing profits in the ratio of 3:2 took out a joint 
life policy on 1.1.95 of as 20,000 for 20 years paying 
annual premium of Rs. 1,000. The Surrender values were.  

 1995 –Nil, 1996 – Rs. 200, 1997 – Rs. 550, 1998 – Rs. 970. 

 B died on 8th March 1998 and the claim was received on 
30th April. 

 Prepare joint life policy account. 
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 H ©ØÖ® ¤ BQ¯ TmhõÎPÒ C»õ£zøu £Qº¢x öPõÒÁx 

3:2 AÁºPÒ Tmk ÁõÌUøP J¨£¢u® JßøÓ 1.1.95 AßÖ 

20,000 ¹£õ´US  20 BskPÐUS GkzuõºPÒ. Auß 

Á¸hõ¢vμ •øn¯® ¹. 1,000 Auß J¨£øhUP¨£mh 

©v¨¦ 

 1995 – CÀø», 1996 – ¹. 200, 1997 – ¹. 550, 1996 – ¹. 970,  

1998 ©õºa 8 B® ÷uv ¤ CÓ¢x ÂkQÓõº. H¨μÀ 30 À 

÷Põ›UøP öuõøP ö£Ó¨£mhx. 

 Tmk Põ¨¥mk £õ¼] PnUøP u¯õº ö\´P. 

19. P, Q and R share profits in proportion of ½, ¼ and ¼. On 
the date of dissolution their balance sheet was as follows:-  

Liabilities Rs. Assets Rs. 

Creditors 14,000 Sundry assets 40,000

P's Capital 10,000  

Q's Capital  10,000  

R's Capital 6,000  

 40,000  40,000

 The assets realized Rs. 35,500. Creditors were paid in 
full. Realisation expense amounted to Rs. 1,500. Close the 
books of the firm. 

 P, Q and R C»õ£zøu £Qº¢x öPõÒÁx •øÓ÷¯ 1/2,  

1/4, ©ØÖ® 1/4  {ÖÁÚ Pø»¨¦ AßÖ AÁºPÎß C¸¨¦ 

{ø»U SÔ¨¦ RÌ Á¸©õÖ. 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

PhÜ¢÷uõº 14,000 £Ø£» ö\õzxUPÒ 40,000

P' ß •uÀ 10,000  

Q' ß •uÀ  10,000  

R' ß •uÀ 6,000  

 40,000  40,000
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 ö\õzxUPÒ ÂØÓx. ¹. 35,500 Phß D¢÷uõº •ÊÁx©õP 

ö\¾zu¨£mk Âmhx. wºÄ ö\»ÄPÒ ¹. 1,500. 

 {ÖÁÚzvß ¦zuPzøu •iUP. 

20. P and N were partners  sharing profit and loss in the 
ratio of 7:5. Their Balance sheet as on 31st December 
2005, is as under: 

Liabilities Rs. Assets Rs. 

Capital: Land and Building 80,000

P  60,000 Plant and Machinery 20,000

N  50,000 1,10,000 Investments 40,000

Reserve fund 20,000 Stock 22,000

Sundry creditors 32,000 Sundry debtors 

Bills payable 13,600                                10,000

 (–) Provision 

      For doubtful debt  400 9,600

 Cash 4,000

 1,75,600  1,75,600

 They desired to admit ‘R’ into the partnership with effect 
from 1st January 2006 on the following terms : 

 (a) R sham bring in a capital of Rs. 40,000 for 1/3rd 
share of profits 

 (b) Goodwill of the firm was valued at Rs. 72,000 

 (c) Land was to be revalued at Rs. 90,000 and 
investments Rs. 50,000. 
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 (d) Stock was to be written down by Rs. 4,000 

 (e) Provision for doubtful debts was to be increased to 

Rs. 6,000 

 (f) Creditors includes Rs. 1,000 no longer payable and 

this sum was to be written off. 

  Show revaluation a/c, capital a/c and the B/S of the   

 reconstituted partnership. 

 P, N GßÓ TmhõÎPÒ •øÓ÷¯ 7:5  GÝ® ÂQuzvÀ C»õ£ 

|mh® £Qº¢x Á¢uÚº. AÁºPÐøh÷¯ 2005 i\®£º 31&® 

|õÍßøÓ¯ C¸¨¦{ø» SÔ¨¦ ¤ßÁ¸©õÖ: 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

•uÀ :  {»®, Pmih® 80,000

          P  60,000  ö£õÔ, ö£õÔz öuõSv 20,000

               N  50,000 1,10,000 •u½kPÒ 40,000

Põ¨¦ {v 20,000 \μUQ¸¨¦                                 1,00,000 22,000

£Ø£» PhÜ¢÷uõº 32,000 (–) Áõμõ I¯Phß 

ö\¾zuuØS›¯ ©õØÖa^mk 13,600          JxUS                                         400   9,600

  öμõUP® 4,000

 1,75,600  1,75,600

 2006 áÚÁ› 1 B® |õÒ R  Gß£Áøμ RÌPõq® 

£QºÄPÐUS Em£mk ÷\º¢uÚº. 

 (A) R ¹. 40,000, 1/3 TmkUS •uÀ öPõsk Á¸Áx. 

 (B) {ÖÁÚzvß |Øö£¯øμ ¹. 72,000 GÚ ©v¨¤kÁx. 
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 (C) {»® ¹. 90,000 GÚÄ® •u½kPÒ ¹. 50,000 GÚÄ® 

©v¨¤h¨£mhx. 

 (D) \μUQß ©v¨¦ ¹. 4,000 SøÓUP¨£mhx. 

 (E) I¯UPhß JxUS ¹. 6000 BP AvP›UP¨£mhx. 

 (F) PhÜ¢÷uõ›À ¹. 1,000 ÷£õUöPÊÁx 

 ©Ö©v¨¥k P/S •uÀ P/S ©ØÖ® ©õØÔ¯ø©UP¨£mh 

Tmhõsø©°ß C¸¨¦{ø»U SÔ¨¦ BQ¯ÁØøÓ u¯õº 

ö\´P.  

  

 

 

———————— 
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B.Com (CA) DEGREE EXAMINATION, NOVEMBER 2019 

Fourth Semester 

Commerce with Computer Applications 

E-COMMERCE AND INTERNET 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is global market? 

 E»PÍõÂ¯ \¢øu GßÓõÀ GßÚ? 

2. What is e-business? 

 ªß ÁoP® GßÓõÀ GßÚ? 

3. What do you mean by EFT? 

 EFT  GßÓõÀ GßÚ? 

4. What is hypertext publishing? 

 E¯º Eøμ öÁÎ±k GßÓõÀ GßÚ? 

5. What is macro? 

 macro GßÓõÀ GßÚ? 

6. What is digital document? 

 digital  BÁn® GßÓõÀ GßÚ? 

Sub. Code 
7BCC4C1 
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7. What are the resources of internet? 

 Cøn¯zvß ÁÍ[PÒ ¯õøÁ? 

8. Write is the full form of ISDN? 

 ISDN - •ÊÁiÁ® GÊxP. 

9. What is FTP? 

 FTP GßÓõÀ GßÚ? 

10. What is webpage? 

 Áø»¨£UP® GßÓõÀ GßÚ? 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are components of I-way? 

   I-way ß TÖPÒ ¯õøÁ? 

Or 

 (b) What are the advantages of E-commerce? 

   ªß – ÁoPzvß |ßø©PÒ ¯õøÁ? 

12. (a) Explain about smart card EPS. 

   Smart card EPS SÔzx ÂÍUSP. 

Or 

 (b) Explain about debit card EPS. 

   Debit card EPS SÔzx ÂÍUSP. 
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13. (a) What are the different types of digital document? 
Explain. 

   Digital BÁn® GzuøÚ ÁøP¨£k®. ÂÍUSP. 

Or 

 (b) What are the application of EDI in business? 

   ÁoPzvÀ EDI °ß £¯ß£õkPÒ GßÚ? 

14. (a) Explain internet Architecture. 

   Cøn¯ Aø©¨¤øÚ ÂÍUSP. 

Or 

 (b) Discuss Internet service providers. 

   Cøn¯ ÷\øÁ ÁÇ[S|ºPøÍ £ØÔ ÂÁ›. 

15. (a) Discuss IRC. 

   IRC ø¯ ÂÁ›. 

Or 

 (b) Discuss about different types of Internet connection. 

   £À÷ÁÖ ÁøP¯õÚ Cøn¯ Cøn¨¤øÚ ÂÁ›. 

 Part C  (3  10 = 30) 

 Answer any three questions. 

16. Distinguish between E-commerce and traditional 
commerce. 

ªß ÁoP® ©ØÖ® £õμ®£›¯ ÁoP® CÁØøÓ 

÷ÁÖ£kzxP. 

17. Explain architectural framework of E- commerce 

 ªß ÁoPzvß Pmhø©¨ø£ ÂÍUSP. 
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18. Write about the SCM. 

 SCM SÔzx Á›ÁõP GÊxP. 

19. What is protocol? Discuss internet working protocol? 

 ö|Ô•øÓ GßÓõÀ GßÚ? Cøn¯ ö|Ô•øÓ £ØÔ ÂÁ›. 

20. Explain about web protocol. 

 Áø» ö|Ô•øÓ SÔzx ÂÁ›. 

 

 

 

 
———————— 
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B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2019 

Fourth Semester 

Commerce with Computer Applications 

C++ PROGRAMMING 

(CBCS – 2017 onwards) 

Time : Three Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is friend function? 

 Friend ö\¯À£õk GßÓõÀ GßÚ? 

2. What is virtual function? 

 ö©´{Pº ö\¯À£õk GßÓõÀ GßÚ? 

3. How will you declare a member of a class as static? 

 class EÖ¨¤Úøμ  static PõP GÆÁõÓ AÔÂ¨£õ´? 

4. What are objects? How are they created? 

 objects GßÓõÀ GßÚ? AøÁPÒ GÆÁõÖ E¸ÁõSÁx? 

5. What is constructor? 

 constructor GßÓõÀ GßÚ? 

6. What is destructor? 

 destructor GßÓõÀ GßÚ? 

Sub. Code 
7BCC4C2 
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7. What is multiple inheritance? 

 Multiple inheritance GßÓõÀ GßÚ? 

8. Define derived class? 

 derived class I Áøμ¯Ö. 

9. Define pointers? 

 _miPÒ GßÓõÀ GßÚ? 

10. List out the features which support to format the output? 

 öÁÎ±k ÁiÁzvøÚ BuμÄ ö\´¯Ä A®\[PøÍ 

£mi¯¼kP. 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the advantages of function prototype in 
C++? 

  C++ ö\¯À£õk •ß©õv›°ß £¯ßPøÍ TÖP. 

Or 

 (b) How will you make a function Inline? Why? 

  J¸ ö\¯À£õmiøÚ  Inline BP GÆÁõÖ ©õÖÁx GÚ 

TÖP? Hß AÆÁõÓõP ©õØÓ ÷Ásk®. 

12. (a) What are the special characters of friend function? 

  friend function ]Ó¨¦ £s¦PÒ ¯õøÁ? 

Or 

 (b) Explain array of objects with example. 

  Array of objects I Euõμnzxhß ÂÁ›. 
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13. (a) Explain copy constructor with example. 

  Copy constructor I Euõμnzxhß ÂÁ›. 

Or 

 (b) Explain dynamic constructor with example. 

  Dynamic constructor I Euõμnzxhß ÂÁ›. 

14. (a) Explain multiple inheritance with example 
program. 

  Multiple inheritance I Euõμnzxhß ÂÁ›. 

Or 

 (b) Explain hierarchical inheritance that with example. 

  £i{ø» inheritance I Euõμnzxhß ÂÁ›. 

15. (a) Discuss about stream classes for console operation. 

  Console |hÁiUøPPÎß stream classes £ØÔ ÂÁ›. 

Or 

 (b) Explain put( ) and get ( ) function with example.  

  put() ©ØÖ® get() ö\¯À£õkPøÍ Euõμnzxhß 

ÂÁ›. 

 Part C  (3  10 = 30) 

Answer any Three questions. 

16. Explain call by reference and return by reference with 
example. 

 SÔ¨¦ ‰»® AøÇUPÄ® ©ØÖ® SÔ¨¦ ‰»® v¸®£Ä® 

SÔzx Euõμnzxhß ÂÁ›. 

17. Explain friendly function with example. 

 Friendly function I Euõμnzxhß GÊxP. 
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18. Describe the unary and binary operator overloading in 

detail with example. 

 unary ©ØÖ® binary operator overloading I Euõμnzxhß 

ÂÍUSP. 

19. Explain virtual bass class with a program in C++. 

 ö©´{Pº bass class I J¸ C++{μ¼ ‰»® ÂÍUSP. 

20. Explain ‘this’ pointer with example. 

 ‘this’ _miUPõmiø¯ Euõμnzxhß ÂÍUSP. 

—————— 
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B.Com. (CA). DEGREE EXAMINATION,  
NOVEMBER 2019 

Fourth Semester  

Commerce with Computer Applications 

ADVANCED ACCOUNTANCY – IV  

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is down payment? 

 öuõhUPzvÀ ö\¾zx® öuõøP GßÓõÀ GßÚ? 

2. Who is preferential creditors? 

 •ßÝ›ø© PhÜ¢÷uõº Gß£Áº ¯õº? 

3. What is network method? 

 {Pμ ©v¨¦ •øÓ GßÓõÀ GßÚ? 

4. What do you mean by invoice price? 

 Chõ¨¦ Âø» GßÓõÀ GßÚ? 

5. How will you show the work-in-progress in a Balance 
sheet? 

 •iÄ ö£Óõ£oPøÍ C¸¨¦ {ø»U SÔ¨¤À GÆÁõÖ 

PõmkÁõ´? 

Sub. Code 

7BCC4C3 
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6. What are the accounts opened under stock and debtors 

system in branch? 

 \μUS ©ØÖ® PhÚõÎPÒ •øÓ°À QøÍ PnUPQÀ GßÚ 

PnUSPÒ öuõh[P¨£k®? 

7. What are various types of branches? 

 QøÍPÎß £À÷ÁÖ ÁøPPÒ ¯õøÁ? 

8. Bring out the impact of ‘non-payment’ of any instalment 
amount in Hire purchase. 

 ÁõhøP öPõÒ•uÀ •øÓ°À uÁønz öuõøP 

öPõkUPõuuõÀ HØ£k® ÂøÍÄPÒ ¯õøÁ? 

9. What is WIP reserve? 

 •iÄÓõ ö£õ¸Ò Põ¨¦ GßÓõÀ GßÚ? 

10. What do you mean by inter dependent branch? 

 \õμõu QøÍPÒ GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Write short notes on: 

  (i) Minimum rent 

  (ii) Sub lease. 

  ]Ö SÔ¨¦ ÁøμP. 

  (i) SøÓ¢u£m\ ÁõhøP 

  (ii) EÒSzuøP. 

Or 
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 (b) Kannan took a lease of a mine from Velan for a 

period of 20 years from 1.1.2010 upon the terms of 
royalty of one rupee per tonne upon the output with 
a minimum rent of Rs. 30,000. Kannan had the 
right of recouping short workings during the first 
five years. The following were the production. 

Years Tonnes 

2006 3,000 

2007 12,000 

2008 20,000 

2009 35,000 

  Give necessary journal entries in the books of 
Kannan. 

  ÷Á»ÛØS ö\õ¢u©õÚ _μ[PzvøÚ Psnß  

20 BskPÐUS SzuøPUS GkzxÒÍõº. 

1.1.2010¼¸¢x EØ£zv ö\´¯¨£k® JÆöÁõ¸ 

hßÝUS® ¹. 1 Ãu® E›ø©z öuõøP²® SøÓ¢uÍÄ 

SzuøPz öuõøP¯õP ¹. 30,000 •® {ºn¯® 

ö\´¯¨£mhx. •uÀ I¢x BskPÎÀ SøÓ 

EØ£zvø¯ «mkU öPõÒÍ PsnÝUS E›ø© 

ÁÇ[P¨£mhx. EØ£zv°ß Â£μ® R÷Ç 

öPõkUP¨£mhÒÍx. 

Á¸h® hßPÒ 

2006 3,000 

2007 12,000 

2008 20,000 

2009 35,000 

÷uøÁ¯õÚ SÔ¨÷£mk¨ £vÄPøÍ PsnÛß HmiÀ 

£vÄ ö\´P. 
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12. (a) What are the objectives of branch accounts? 

  QøÍ PnUQß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) Prasanna a retail merchant commenced business 
with a capital of Rs. 25,000 on 1.1.2013 
subsequently on 1.5.2013 he invested a further 
capital of Rs. 10,000. During the years he was with 
drawn Rs. 4,000 for his personal use on 31st  
December 2013, his assets and liabilities were as 
follows: 

 Rs. 
Cash at Bank 6,000
Debtors 8,000
Creditors 10,000
Stock 32,000
Furniture 4,000

  Ascertain the profit (or) loss for the year 2013. 

  1.1.2013À ¤μ\ßÚõ GßÓ J¸ ]À»øμ Â¯õ£õ› •uÀ 

öuõøP¯õÚ ¹. 25,000zxhß Â¯õ£õμzøu 

öuõh[QÚõº. 1.5.2013 AßÖ TkuÀ •u»õP  

¹. 10,000 •u½k ö\´uõº. ö\õ¢u ö\»ÂØPõP A¢u 

Á¸h® AÁº ¹. 4,000 GkzxU öPõshõº. 31.12.2013 

÷uv°À AÁ¸øh¯ ö\õzxUPÒ ©ØÖ® ö£õÖ¨¦PøÍ 

Á¸©õÖ. 

 ¹. 

Á[Q öμõUP® 6,000
PhÚõÎPÒ 8,000
PhÜ¢÷uõº 10,000
\μUQ¸¨¦ 32,000
AøÓP»ß 4,000

2013® BsiØPõÚ C»õ£® AÀ»x |mhzøu 

PnUQkP. 
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13. (a) Sham Sundar purchased under hire purchase 

system a machine from Kolkata company on 

1.1.2014 paying cash Rs. 10,000 and agreeing to pay 

three further instalments of Rs.10,000 each on  

31st  December on every year. The cash price of the 

machine is Rs. 37,250 and the Kolkata company 

charges interest at 5% p.a. Sham sundar writes off 

depreciation on machine at the rate of 10% 

diminishing balance method. You are required to 

prepare machine a/c and Kolkata a/c. 

  åõ® _¢uº ÁõhøP öPõÒ•uÀ •øÓ°À 1.1.2014 

AßÖ öPõÀPzuõ {ÖÁÚzvhª¸¢x C¯¢vμ® JßøÓ 

Áõ[QÚõº. Áõ[Q¯ Eh÷Ú÷¯ ¹. 10,000 

öμõUP©õPÄ® «u•ÒÍ öuõøPø¯ ‰ßÖ 

uÁønPÎÀ ¹. 10,000 Ãu® JÆöÁõ¸ Bsk® 

CÖvz ÷uv¯õÚ 31.12.2014 ö\¾zxÁx HÚ Ehß£õk 

÷©ØöPõÒÍ¨£mhx. C¯¢vμzvß öμõUP Âø»  

¹. 37,250 öPõÀPzuõ {ÖÁÚ® 5% Bsk JßÔØS 

Ámi ö\¾zu ÷Ásk® GßÓx. åõ® _¢uº 

C¯¢vμzvØS Bsk JßÔØS 10% SøÓ¢u ö\¯À 

•øÓ°À ÷£õUöPÊvÚõº. C¯¢vμ PnUøP²®, 

öPõÀPzuõ {ÖÁÚU PnUøP²® }Âº u¯õº ö\´P. 

Or 

 (b) Write the features of hire purchase system. 

  ÁõhøP öPõÒ•uÀ ]Ó¨¤¯À¦PÒ ¯õøÁ? 
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14. (a) Ascertain the profit that you consider as having 

been earned by the Delhi branch of Jaipur 
Industries Ltd from the following particulars. 

  Stock on 1.1.2012 ( invoice price) Rs. 20,000 

  Goods sent to Branch during 2012 (invoice Price) 
Rs.1,10,000 

  Expenses at branch during the year 2012 Rs. 6,000. 
Sales during the year Rs. 1,20,000. Goods are 
invoiced to Branch at cost plus 25% The sale price is 
cost Plus 50%. Also ascertain the stock reserve. 

  öá´§º öuõÈØ {Ö©zvß öhÀ¼U QøÍ°Ýøh¯ 

RÌUPõq® ÂÁμ[PÎ¼¸¢x C»õ£zøu PnUQkP. 

\μUQ¸¨¦ 1.1.2012 AßÖ (Chº¨¦ Âø»°À)  

¹. 20,000.  

  QøÍUS 2012À AÝ¨¤¯ \μUSPÒ (Chõ¨¦ 

Âø»°À) ¹. 1,10,000 QøÍ°À ö\»ÄPÒ (2012) ¹. 

6,000 Bsk ÂØ£øÚ ¹. 1,20,000 QøÍUS \μUSPÒ 

AÝ¨¦® ÷£õx  

  Chõ¨¦ Âø» = AhUPÂø» + 25% ÂØ£øÚ Âø» & 

AhUPÂø» + 50%. \μUQ¸¨¦U Põ¨¦z öuõøP°Ý® 

Psk¤i. 

Or 

 (b) What is meant by recoupment of short working? 
Explain its different types. 

  SøÓ EØ£zv «m¦  Gß£uß ö£õ¸Ò ¯õx? Cuß 

£À÷ÁÖ ÁøPPøÍ ÂÍUSP. 

15. (a) What are the different types of creditors? 

  PhÜ¢÷uõ›ß £À÷ÁÖ ÁøPPÒ ¯õøÁ? 

Or 

 (b) Why do you prepare a deficiency account? Write a 
specimen of a deficiency account. 

  £ØÓõUSøÓ PnUS GuØPõP u¯õ›UP¨£kQÓx? Auß 

©õv› £iÁzvøÚ GÊxP. 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. The following information relates to building contract for 
Rs. 10,00,000. 

Particulars 2008 2009 

Materials issued 3,00,000 84,000

Direct wages 2,30,000 1,05,000

Direct expenses 22,000 10,000

Work certified 7,50,000 10,00,000

Indirect expenses 6,000 1,400

Work uncertified 8,000 –

Materials at site 5,000 7,000

Plant issued 14,000 2,000

Cash received from contractee 6,00,000 10,00,000

 Value of the plant on 2008 and 2009 was Rs.7,000 and  
Rs. 500 respectively. Prepare contract account and 
contractee account. 

 RÌÁ¸® Â£μ[PÒ ¹. 10,00,000 ©v¨¦ÒÍ J¸ Pmih 

J¨£¢uzvØS›¯øÁ 

Â£μ[PÒ 2008 2009 

ö£õ¸mPÒ ÁÇ[Q¯x 3,00,000 84,000

÷|μi T¼ 2,30,000 1,05,000

÷|μi ö\»ÄPÒ 22,000 10,000

\õßÓÎUP¨£mh ÷Áø» 7,50,000 10,00,000

•øÓ•P ö\»ÄPÒ  6,000 1,400

\õßÓÎUP¨£hõu ÷Áø» 8,000 –

öuõÈ¼hzvÀ EÒÍ ö£õ¸mPÒ 5,000 7,000



F–2441 

  

  8

Ws 2

Â£μ[PÒ 2008 2009 

uÍÁõh® ÁÇ[Q¯x 14,000 2,000

J¨£¢u® ö£Ó¨£mhÁ›hª¸¢x  

öμõUP® ö£ØÓx 

6,00,000 10,00,000

uÍÁõh ©v¨¦ 2008 ©ØÖ® 2009À ¹. 7,000 ©ØÖ® ¹. 500 

•øÓ¯õP. J¨£¢uU PnUS ©ØÖ® J¨£¢u® AÎzuÁº 

PnUQøÚ u¯õº ö\´P. 

17. Karnataka coal Ltd leased a colliery from Himalaya Coal 

Ltd on 1.1.2005 at a minimum rent of Rs. 30,000 merging 

into a royalty of Rs.1.50 per tonnes with power to recoup 

short workings during the first three years of the lease. 

The output of the colliery for the five years of the year of 

the lease was 9,000, 15,000, 27,000, 17,000, and 28,000 

tonnes respectively. Pass the journal entries. 

 Pº|õhPõ {»UP›  {Ö©® 1.1.2005® ÷uv°À J¸ {»UP› 

_μ[Pzøu C©õ»¯õ {»UP› {Ö©zv¼¸¢x SzuøPUS 

Gkzux. SøÓ¢u SzuøP ¹. 30,000 SzuøP J¸ hß 

EØ£zvUS ¹. 1.50 GßÓ ÃuzvÀ SøÓ EØ£zv «mkU 

öPõÒÍ •uÀ ‰ßÖ BskPÐUS E›ø© Esk. •uÀ I¢x 

BskPÐUPõÚ EØ£zv SzuøPUS Gkzu _μ[Pzv¼¸¢x 

9,000, 15,000, 27,000, 17,000, 28,000  hßPÒ. ÷uøÁ¯õÚ 

SÔ¨÷£mk £vÄPøÍ GÊxP.   

18. Explain the different between hire purchase and 

Instalment system. 

 ÁõhøP öPõÒ•uÀ •øÓUS® uÁøn öPõÒ•uÀ 

•øÓPÐ® EÒÍ ÷ÁÖ£õkPøÍ ÂÁ›. 
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19. Mr. R finds himself insolvent on 31.12.2015. Prepare 

Statement of affairs. His position was as follows. 
Particulars Rs. 

Sundry debtors (good) 5,000

Doubtful (estimated to produce Rs.25,000) 30,000

Bad debts 15,000

1000 shares in ‘A’ co ltd  
(estimated to produce Rs.15,000) 

25,000

Shares in ‘B’ co ltd (estimated to produce Rs.75,000) 91,500

Loss through betting 2,000

Creditors 85,600

Creditors holding a second charge on the shares of B co. 

To the extent of Rs.2 5,000 30,000

Creditors holding a first charges on the shares of B ltd. 40,000

Bills payable of Rs.4,000 cash in hand 550

Creditors for rent and taxes  
(of which Rs. 4,600 are pref) 

5,000

Furniture fixtures (estimated to produce Rs. 3,000) 15,000

Stock in trade (estimated to realise Rs. 30,450) 35,950

Bills receivable (estimated to realise Rs.7,000) 9,000

 31.12.2015 v¸. Bº Gß£Áº ö|õi¨¦ {ø»¯øh¢uøu 

PshÔ¢uuÚõÀ {ø»¯ÔUøP JßÔøÚ u¯õº ö\´P. 

ÂÁμ[PÒ ¹. 

£Ø£» PhÚõÎPÒ (|À»øÁ) 5,000

I¯UPhß (I¯UPhß wºÂß ©v¨¦ ¹. 25,000) 30,000

ÁõμUPhß 15,000

A P®ö£Û ¼ªöhmiß 1000 £[SPÒ  

(wºÂß ©v¨¦ ¹. 15,000) 

25,000

B P®ö£Û ¼ªöhmiß £[SPÒ  

(wºÂß ©v¨¦ ¹. 75,000) 

91,500

`uõmhzvÀ CÇ¨¦ 2,000
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PhÜ¢÷uõº 85,600

B P®ö£Û ¼ªöhm £[SPÒ «x ¹. 25,000 Áøμ  

Cμshõ® £ØÖ›ø© öPõsh PhÜ¢÷uõº 30,000

B P®ö£Û ¼ªöhm £[SPÒ «x •uÀ £ØÖ›ø© 

öPõsh PhÜ¢÷uõº ö\¾zxÁuØS›¯ 

40,000

©õØÖa^mk ö\¾zxuØS›¯ öuõøP ¹. 4,000 øP°À 

öμõUP®  

550

ÁõhøP Á›÷£õßÓÁØÔUPõÚ PhÛ¢÷uõº  

(CvÀ ¹. 4,600 •ßÝ›ø© EÒ£h) 

5,000

©øÚ AoPÐ® ö£õ¸zv¯øÁPÐ®   

(wÂß ©v¨¦ 3,000) 

15,000

\μUQ¸¨¦ (wºÂß ©v¨¦ 30,450) 35,950

ÁμÄUS›¯ ©õØÖa^mk (wºÂß  ©v¨¦ 7,000) 9,000

20. On 1.1.2004 Arul purchased machinery under instalment 
system. The down panchayat was Rs. 10,000 and the 
balance is payable in four annual instalments of  
Rs. 10,000 each. Interest is charged at 10% p.a  Arul 
writes off depreciation at 15% p.a on straight line 
method. Calculate the cash price of the machine interest 
and give journal entries in the books of Arul. 

 1.1.2004 A¸Ò uÁøn •øÓ°À C¯¢vμ® Áõ[QÚõº. 

•uÀ ö\¾zuÀ ¹. 10,000 BS®. «vø¯ Bskz 

uÁøn¯õP ¹. 10,000 Ãu® |õßS BskPÒ ö\¾zxQÓõº. 

BskUS 10% Ámi ÂvUP¨£mhx. A¸Ò Á¸h® 15% 

÷|º÷Põmk •øÓ°À ÷u´©õÚ® GÊvÚõº. C¯¢vμzvß 

öμõUP Âø» Ámi PnUQmk A¸Ò HkPÎÀ •uØSÔ¨¦ 

£vÄPÒ uμÄ®. 

 
———————— 
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B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2019 

Fourth Semester 

Commerce with Computer Applications 

BUSINESS MATHEMATICS 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Find the simple interest on Rs. 5000 at 10% for 3 years. 

 A\À ¹. 5,000  «x 3 BskPÎÀ 10% ÃuzvÀ \õuõμn 

Ámi ©v¨¤kP. 

2. Express the following as percentages.  

 (a) 
5
1

  (b) 
8
5

 

 ¤ßÁ¸® \uÃuzøu öÁÎ¨£kzx[PÒ. 

 (A) 
5
1

   (B) 
8
5

 

3. State the product rule for logarithm. 

 ©hUøPUPõÚ ö£¸UPÀ Âv GÊxP. 

4. What is common and Natural logarithm. 

 ö£õx ©hUøPPÒ, C¯ØøP ©hUøPPÒ GßÓõÀ GßÚ? 

Sub. Code 
7BCC4C4 
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5. What are disjoint sets. Give an example.  

 ö£õxÁØÓ Pn[PÒ GßÓõÀ GßÚ? GkzxPõmk TÖP. 

6. If U = {1, 2, 3, 4, 5, 6, 7}, A = {1, 2, 3}, B = {2, 3, 4} Verify 
that   ''' BABA   

 U = {1, 2, 3, 4, 5, 6, 7}, A = {1, 2, 3}, B = {2, 3, 4} GÛÀ 
  ''' BABA   GÚ \›£õºUPÄ®. 

7. Define Probability. 

 {PÌuPÄ Áøμ¯Ö. 

8. Write any two axioms of probability. 

 {PÌuPÂß Esø© ¤μ©õnzøu Cμsk GÊxP. 

9. Using Binominal theorem find the value of 994. 

 D¸Ö¨¦ ÷uØÓzøu £¯ß£kzv 994&ß ©v¨¦ PõsP. 

10. Expand   .2 4ba  

 Â›ÁõUP® ö\´P :   .2 4ba  

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) A sum of money amounts to Rs. 20,800 in 5 years 
and Rs. 22,720 in 7 years. Find the principal and 
the rate of simple interest. 

   J¸ £nzvß öuõøP 5 BskPÎÀ ¸. 20,800, 7 

BskPÎÀ ¹. 22,720 GßÖ ©v¨¤h¨£kQÓx. 

CÁØÔß A\À, ©ØÖ® ÁmiÃu® PõsP. 

Or 
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 (b) Find the true discount and the present worth of bill 
for Rs. 1660 due in 9 months at 5% per annum. 

   J¸ μ^vß ©v¨¦ 9 ©õu[PÎÀ, 5% Ãu®, ¹. 1,660 

GßÖ uSv ö£ÖQÓx. Auß Esø©¯õÚ uÒÐ£i, 

uØ÷£õøu¯ ©v¨¦ BQ¯ÁØøÓ PõsP. 

12. (a) Show that 2
10

125
10 log3log  . 

   
2
10

125
10 log3log   GÚ {¹¤. 

Or 

 (b) Evaluate 
72.196.18
23.4162.71




 using logarithm table.  

   ©hUøP AmhÁøn £¯ß£kzv 
72.196.18
23.4162.71




 ©v¨¦ 

PõsP. 

13. (a) Verify by Venn diagram 
     CABACBA   

        CABACBA   öÁß £h[PÒ öPõsk 

\›£õºUPÄ®. 

Or 

 (b) Given },7,6,5,4,3,2,1{  }5,4,3,2,1{A  }7,5,3,1{B  

}7,6,5,2{C  Find '.,,, CABABCCA   

   },7,6,5,4,3,2,1{  }5,4,3,2,1{A  }7,5,3,1{B  

}7,6,5,2{C  GÛÀ ',,, CABABCCA   

©v¨¤kP. 
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14. (a) What is the probability of leap year selected at 
random, will contain 53 Sundays? 

   H÷uÝ® J¸ ½¨ Á¸hzøuz ÷uº¢öukUQßÓ÷£õx 

AÆÁ¸hzvÀ 53 bõ°ØÖQÇø©PÒ C¸¨£uØPõÚ 

{PÌuPÂøÚU PõsP. 

Or 

 (b) Eight Coins are thrown simultaneously. Find the 

chance of getting 

          (i)  at least 6 heads 

         (ii)  no heads. 

   8 Põ_PÒ J÷μ ÷|μzvÀ Ã\¨£kQÓx. ¤ßÁ¸® 

{PÌuPÄ PõsP. 

  (i)  SøÓ¢u£m\® 6 •P[PÒ 

         (ii) •P[PÒ Qøh¯õx 

15. (a)   224811 xxaxIf n   find the values of a and n. 

     224811 xxax n   GÛÀ, a ©ØÖ® n&Cß ©v¨¦ 

PõsP. 

Or 

 (b) Find the independent term in the expansion of 
15

2
3 3







 

x
x . 

   

15

2
3 3







 

x
x  Â›ÁõUPzvÀ _¯õwÚ Põ» ©v¨¦ PõsP. 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. Define annuity. Write down the formula for the amount 
of annuity due. Find also the present value of an annuity 
of Rs. 5000 p.a for 12 years, the interest being 4% p.a 
compounded annually. 

Bskz öuõøP Áøμ¯Ö Põμn©õP Á¸hõ¢u öuõøPUPõÚ 

`zvμ® GÊxP. BskzöuõøP ¹. 5,000 p.a, 12 BsiØS 

4% p.a ÁmiÃu® Tmk Ámi GÛÀ, uØ÷£õøu¯ Bskz 

öuõøP ©v¨¤kP. 

17. Show that  

 (a) 2
10

1600
10 log42log   

 (b) 2
10

250
10 log23log  . 

 {¹¤zx PõsP :  

 (A) 2
10

1600
10 log42log   

 (B) 2
10

250
10 log23log  . 

18. Out of a group of 50 teachers in a High School, 30 teach 
maths, 20 teach   English and 25 teach Science. 10 teach 
both Maths and science. And none teach maths and 
English. How many teach Science and English? 

J¸ E¯º{ø» £ÒÎ°À, 50 B]›¯ºPÒ EÒÍÚ. 30 

B]›¯ºPÒ PnUS, 20 B]›¯ºPÒ B[Q»®, 25 

B]›¯ºPÒ AÔÂ¯À PØÖz u¸QÓõºPÒ. 10 B]›¯ºPÒ 

PnUS®, AÔÂ¯¾® PØÖz u¸QÓõºPÒ. PnUS, B[Q»® 

Cμsøh²® ¯õ¸® PØÖz uμÂÀø». GÆÁÍÄ B]›¯ºPÒ 

AÔÂ¯À ©ØÖ® B[Q»® PØÖU  öPõkUQßÓÚ. 
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19. The following data show the number of seeds germinating 
out of 10 on damp filter for 80 sets of seeds. Fit a 
binominal distribution to this data: 

X : 0 1 2 3 4 5 6 7 8 9 10

Y : 6 20 28 12 8 6 0 0 0 0 0

  

•øÍ¨£°À : 0 1 2 3 4 5 6 7 8 9 10

ÂøuPÒ : 6 20 28 12 8 6 0 0 0 0 0

 ÷©ØPsh ÂÁμ® Gß£x ö\m ÂøuPÎß 10 •øÍ¨£°º 

BS®. CuØS D¸Ö¨¦ £μÁÀ ö£õ¸zxP. 

20. Simplify    55
5151   using binominal theorem.  

 D¸Ö¨¦ ÷uØÓzøu £¯ß£kzv GÎø©¨£kzxP. 

   55
5151  . 

 

 
———————— 
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F–2443    

 

B.Com.(CA) DEGREE EXAMINATION, NOVEMBER 2019 

Fifth Semester  

Commerce with computer applications 

CORPORATE ACCOUNTING  

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is pro rata allotment of shares? 

 ÂQu AÍÄ £[S JxURk GßÓõÀ GßÚ? 

2. What is issue of shares at discount? 

 £[SPøÍ ÁmhzvÀ öÁÎ°kuÀ GßÓõÀ GßÚ? 

3. What is meant by debenture? 

 PhÜmk £zvμ® GßÓõÀ GßÚ? 

4. What is time ratio? 

 ÷|μ ÂQu AÍÄ GßÓõÀ GßÚ? 

5. Explain interim dividend. 

 CøhUPõ»¨ £[Põuõ¯® Gß£øu ÂÍUSP. 

6. What is call in arrear? 

 AøÇ¨¦ {¾øÁ GßÓõÀ GßÚ? 

7. Who is called liquidator? 

 {ÖÁÚ Pø»¨£õÍº Gß£Áº ¯õº? 

Sub. Code 

7BCC5C1 
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8. What is capital reduction? 

 ‰»uÚ SøÓ¨¦ GßÓõÀ GßÚ? 

9. Who is under Writer? 

 J¨¦Öv¯õÍº Gß£Áº ¯õº? 

10. Give the journal entries for forfeiture of shares. 

 £[SPÒ JÖ¨¤Ç¨¦ ö\´ÁuØS uUP SÔ¨÷£mk £vÄ u¸P. 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b) 

11. (a) The directors of a company forfeited 100 shares of 
Rs. 10 each fully called up for non–payment of first 
call of Rs.2 per share and final call of Rs.3 per 
share. 60 of these shares wee subsequently reissued 
at Rs.6 per share fully paid up. Give journal entries. 

  J¸ {Ö©zvß C¯US|ºPÒ •ØÖ® AøÇUP¨ ö£ØÓ 

¹.10 ©v¨¦øh¯ 100 £[SPøÍ •uÀ AøÇ¨¦ 

£[öPõßÖUS ¹.2 Ãu•® CÖv AøÇ¨¦ 

£[öPõßÖUS ¹.3 ö\¾zuõu PõμnzuõÀ JÖ¨¤Ç¨¦ 

ö\´uÚº. CvÀ 60 £[SPøÍ •ÊÁx® 

ö\¾zu¨£mhøÁ £[öPõßÖ ¹.6 Ãu® ©ÖöÁÎ±k 

ö\´¯¨£mhÚ SÔ¨÷£mk £vÄPøÍ u¸P? 

Or 

 (b) TITAN Ltd., issued 20,000 12% debentures of 
Rs.100 each at a discount of 5% payable after 6 
years at a premium of 5%. Pass journal entries for 
issues and redemption of debentures. 

  øhmhß ¼ªöhm 20,000 12% PhÜmk £zvμ[PøÍ 

¹.100 ©v¨¤À 5% uÒÐ£i°À öÁÎ°mhx. Cx 6 

BskPÒ PÈzx 5% •øÚ©zvÀ «mP¨£k®. PhÜmk 

£zvμ[PøÍ öÁÎ°kÁuØS ©ØÖ® «m£uØPõÚ 

•uØSÔ¨÷£mk £vÄPøÍ u¸P. 
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12. (a) What are the various types of preference share? 

  •ßÝ›ø© £[SPÎß ÁøPPøÍ ÂÍUSP. 

Or 

 (b) A company limited issued 40,000 equity shares of 
Rs.10 each payable as follows. 

  On application Rs.2 

  On allotment Rs.4 

  On 1st and final call Rs.4 

  The issue is fully subscribed. Pass journal entries. 

  J¸ Áøμ¯Ö {Ö©® J¸ £[S ¹.10 Ãu® 40,000 

£[SPÐUPõÚ Âsn¨£[PÒ Áμ÷ÁØP¨ö£ØÓx. 

öuõøPPÒ ¤ßÁ¸©õÖ ö\¾zu¨£h ÷Ási¯x  

  Âsn¨£izvß ÷£õx – ¹.2 

  JxURmiß ÷£õx – ¹.4 

  •uÀ ©ØÖ® CÖv AøÇ¨¤ß ÷£õx – ¹.4 

  £[SPÒ •ÊÁx® JxUP¨£mk öuõøPPÒ 

ö£Ó¨£mhÚ. uUP SÔ¨÷£mk £vÄPøÍ u¸P. 

13. (a) A PQR Ltd., issued 25,000 shares of Rs. 100 each. 
The whole issue was underwritten by David. In 
addition there is a firm underswriting of 3,000 
shares by David application for 17,000 shares were 
received by the company in all. Calculate the 
liability of David. 

  PQR {Ö©® J¸ £[S ¹.100 Ãu® 25,000 £[SPøÍ 

öÁÎ°mk Auß •Ê J¨¦Öv¯õÍμõP ÷hÂm 

C¸¢uõº. ÷©¾® Tku»õP A¢u {Ö©® 3,000 

£[SPøÍ ÷hÂm J¨¦Öv¯õÍμõP öPõsk 

öÁÎ°h¨£mhx. 17,000 £[SPÐUPõÚ 

Âsn¨£[PÒ Áμ÷ÁØP¨ ö£ØÓÚ. ÷hÂm Gß£Á›ß 

ö£õÖ¨¦UPøÍ PnUQkP. 

Or 
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 (b) A company issued 1,000 8% debenture of Rs.100 

each. If the debenture were issued as follows. 

  (i) Issued at par, redeemable at par. 

  (ii) Issued at discount of 5% repayable at par. 

  (iii) Issued at premium of 10% repayable at par 
pass journal entries. 

  {ÖÁÚ® 1,000 8% PhÜmk £zvμ® JßÖ ¹.100 Ãu® 

PhÜmk¨ £zvμ® öÁÎ°k® ÂÁμ® ¤ßÁ¸©õÖ 

  (i) •P ©v¨¤À öÁÎ±k •P ©v¨¤À «m¦ 

  (ii) 5% ÁmhzvÀ öÁÎ°kuÀ, •P ©v¨¤À «m¦ 

  (iii) 10% •øÚ©zvÀ öÁÎ°kuÀ, •P©v¨¤À «m¦ 

•uÀ SÔ¨÷£mk £vøÁ u¸P. 

14. (a) A company purchased building of the book value of 
Rs.1,98,000 from another firm. It  was agreed that 
the purchase consideration be paid by issuing 10% 
Debentures of Rs.100 each. Give journal entries if 
the debentures have been issued. 

  (i) at per 

  (ii) at discount of 10% and 

  (iii) at a premium of 10% 

  J¸ {Ö©® ©ØöÓõ¸ {ÖÁÚzv¼¸¢x ¹.1,98,000 

Hmk ©v¨¦ÒÍ Pmih® JßøÓ öPõÒ•uÀ ö\´ux. 

öPõÒ•uÀ ©Ö£¯ÚõP ¹.100 ©v¨¦ÒÍ 10% PhÜmk 

£zvμ[PÍõP ÁÇ[SÁuõP J¨¦UöPõÒÍ¨£mhx. 

PhÜmk¨ £zvμ[PÒ RÌUPshÁõÖ 

öÁÎ°h¨£kÁuõP öPõsk JÆöÁõßÔØS® 

SÔ¨÷£mk £vÄPøÍz u¸P. 

  (i) •P©v¨¤À öÁÎ°kuÀ 

  (ii) 10% uÒÐ£i°À öÁÎ°kuÀ ©ØÖ® 

  (iii) 10% •øÚ©zvÀ öÁÎ°kuÀ. 

Or 
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 (b) Bee Ltd., had 60,000 equity shares of Rs.100 each 

Rs.80 per share called up. Now the company decides 
to pay off Rs.20 per share of the paid up capital and 
at the same time of reduce the Rs.100 share to 
Rs.60 share fully paid up by cancelling the unpaid 
amount. Give journal entries. 

  ¹.80 ö\¾zu¨£mh ¹.100 ©v¨¦ÒÍ 60,000 ÷|ºø©¨ 

£[SPøÍ ¤ ¼ªöhm öPõsi¸¢ux. uØö£õÊx 

{Ö©® J¸ £[QØS ¹.20 Ãu® v¸¨¤a ö\¾zuÄ® 

©ØÖ® A÷u \©¯® ¹.100 ©v¨¦ÒÍ £[QøÚ ¹.60 

©v¨¦ÒÍ •ÊÁx® ö\¾zu¨£mh £[SPÍõP ©õØÔ 

ö\¾zu¨£hõu öuõøP°øÚ Cμzx ö\´¯Ä® •iÄ 

ö\´ux. •uØ SÔ¨÷£mk £vÂøÚ u¸P. 

15. (a) Explain the format of liquidators final statement. 
  {ÖÁÚ Pø»¨£õÍº CÖv AÔUøP°ß ©õv› 

ÁiÁzøu ÂÍUSP. 

Or 
 (b) Compute managerial remuneration from the 

information given below to full time directors. 
   

Net profit 20,00,000

Special depreciation 20,000

Provision for income tax 1,00,000

Ex–gratia payment to a worker 5,000

Capital profit on sale of assets 7,000

  •Ê ÷|μ C¯US|¸UPõÚ ©v¨§v¯zøu ¤ßÁ¸® 

ÂÁμ[PøÍ öPõsk PõsP. 

 ¹ 

{Pμ »õ£® 20,00,000

]Ó¨¦ ÷u´©õÚ® 20,000

Á¸©õÚ Á› JxUS 1,00,000

÷Áø»¯õmPÐUS AÎzu P¸ønz öuõøP 5,000

ö\õzx ÂØ£øÚ°À •u¼Ú C»õ£® 7,000
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. From the following profit and loss account for the year 
ended 31.3.1999 of X Co.Ltd., X co Ltd., was incorporated 
on 1.7.1998 in order to purchase a running business from 
1.4.98 calculate per incorporations profit. 

Particulars Amount Particulars Amount

To opening stock 1,20,000 By sales (up to 
30.6.98 Rs.1,00,000) 3,00,000

To purchase 1,75,000 By closing stock  70,000

To balance c/d 75,000  

 3,70,000  3,70,000

To administrative 
expenses 

 
18,000 

By gross profit 
 

75,000

To directors fees 3,000  

To selling  
expenses 

36,000  

To audit fee 1,000  

To preliminary    
expenses 

3,000  

To net profit 14,000  

 75,000  75,000

 X Áøμ¯Ö {Ö©zvß 31.3.1999 BsiÖv C»õ£ |mh 

PnUS R÷Ç öPõkUP¨£mkÒÍx. AÆÁøμ¯Ö {Ö©® 1.4.98 

¼¸¢x öuõh[P¨£mk J¸ Áøμ¯Ö {Ö©® 1.7.98–À 

Tmk¸ÁõUP® ö\´¯¨£mhx. Tmk¸ÁõUPzvØS •¢øu¯ 

C»õ£zøu PnUQkP. 

 ¹  ¹ 

öμõUP \μUQ¸¨¦ 1,20,000 ÂØ£øÚ 3,00,000

öPõÒ•uÀ 1,75,000 (30.6.98 Áøμ  

¹. 1,00,000) 

70,000
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 ¹  ¹ 

ö©õzu C»õ£® R/C 75,000  

 3,70,000  3,70,000

{ºÁõP ö\»ÄPÒ 18,000 ö©õzu C»õ£® R/öPõ 75,000

C¯US|º Pmhn® 3,000  

ÂØ£øÚ ö\»ÄPÒ 36,000  

uoUøPU Pmhn® 1,000  

öuõhUPaö\»ÄPÒ 3,000  

{Pμ ö\»ÄPÒ 14,000  

 75,000  75,000

17. The following is the balance sheet of VEGA Ltd., as on 
31.12.2004 

Liabilities Amount Assets Amount
Paid up capital 200000 
equity share of Rs.10 each 

 

20,00,000 

 

Good will 5,00,000

Creditors 15,00,000 Plant and machinery 17,00,000

  Stock 8,00,000

  Debtors 3,00,000

  Cash 10,000

    Profit and loss account 1,90,000

 35,00,000  35,00,000

 The following scheme of reconstructions was approved by 
the court. 

  (a) To reduce the paid up capital by Rs.5 per 
share 

  (b) To write off good will and debit balance in 
profit and loss account. 

  (c) To write off the plant and machinery by 
Rs.3,10,000 

  (d) Give journal entries prepare capital reduction 
account and the balance sheet after 
reconstructions. 
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 31.12.2004 ® |õÍßøÓ¯ öÁPõ ¼miß C¸¨¦ {ø» SÔ¨¦ 

¤ßÁ¸©õÖ 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹ 

 {ø»a ö\õzxPÒ 

ö\¾zu¨£mh •uÀ 

2,00,000 ÷|ºø© 

£[SPÒ 1 Ãu® ¹.10  

20,00,000 |Øö£¯º 5,00,000

PhÜ¢÷uõº 15,00,000 C¯¢vμ® 17,00,000

 |h¨¦a ö\õzxUPÒ

 \μUQ¸¨¦ 8,00,000

 PhÚõÎPÒ 3,00,000

 öμõUP® 10,000

 C»õ£ |mh P/S 1,90,000

 35,00,000 35,00,000

 RÌUPsh ^μø©¨¦ vmh[PÐUS }v©ßÓ® AÝ©v 

ÁÇ[Q¯x 

(A) ö\¾zu¨£mh •uÀ £[öPõßÖUS ¹.5 SøÓ¨£x, 

(B) |Øö£¯º ©ØÖ® C»õ£ |mh P/S £ØÔ¸¨ø£ 

÷£õUöPÊxÁx  

(C) C¯¢vμzvÀ ¹.3,10,000 I }USÁx 

 (D) SÔ¨÷£mk £vÄPÒ u¢x •uÀ SøÓ¨¦ P/S ©ØÖ® 

^μø©¨¦US ¤¢øu¯ C¸¨¦ {ø»U SÔ¨ø£²® u¸P. 

18. A ltd issued 2,000 shares of Rs.100 each at a premium of 
10% payable as follows. 

 On applications Rs.25 
 On allotment Rs.35 (including premium) 
 On first call Rs.20 
 On final call Rs.30 
 1800 shares were applied for and allotted. All the money 

was received with the exception of first and final call on 
200 shares held by Raghu. These shares were forfeited. 
Give journal entries. 
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 A {Ö©® 2,000 £[SPøÍ £[S JßÖ ¹.100 ÃuzvÀ 

öPõsk 10% •øÚ©zvÀ öÁÎ°mhx. £[S öuõøPPÒ 
¤ßÁ¸©õÖ ö\¾zu¨£h ÷Ási¯x. 

 Âsn¨£zvß ÷£õx ¹.25 

 JxURmiß ÷£õx ¹.35 

 •uÀ AøÇ¨¤ß ÷£õx ¹.20 

 CÖv AøÇ¨¤ß ÷£õx ¹.30  

 1800 £[SPÒ Âsn¨¤zx AÝ©vUP¨£mhx. 
μSÂh•ÒÍ 200 £[SPÐUPõÚ •uÀ ©ØÖ® Pøh] £[Sz 
öuõøP uÂμ ©ØÓ AøÚzx® £n©õP ö£Ó¨£mhx. μSÂß 
£n® ö\¾zuõu £[SPÒ v¸®£ ö£Ó¨£mhx. SÔ¨÷£mk 
£vÄPÒ u¸P. 

19. Explain the various types of purchase consideration. 

 öPõÒ•uÀ ©Ö£¯Ûß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 

20. From the data relating to a company (in Voluntary 
liquidation) you asked to prepare liquidators final 
statement of accounts. 

 (a) Cash with liquidatior (After all assets are realized 
and secured creditors and debentures holders are 
paid) is Rs.6,73,800 

 (b) Preferential creditors to be paid Rs.30,000 

 (c) Other unsecured creditors Rs.2,15,000 

 (d) 4,000 6% preference shares of Rs.100 each fully paid 

 (e) 2,000 equity shares of Rs.100 each Rs.75 per share 
paid up 

 (f) 6,000 equity shares of 100 each Rs.60 per share paid up. 

 (g) Liquidator’s remunerations 2% on preferential and 
other unsecured creditors. 

 (h) Preference dividend were in arrears for 2 years.  



F–2443 

  

  10

Ws 17
 uß Pø»¨¤¾ÒÍ J¸ {Ö©zvß Pø»¨£õÍ›ß CÖv 

PnUøP RÌUPõq® ÂÁμ[PÎ¼¸zx u¯õ›UPÄ®. 

 (A) Pø»¨£õÍ›h•ÒÍ öμõUP® (AøÚzx ö\õzxUPÐ® 

©v¨¦ Eøμ¨£mk–¤øn PhÜ¢÷uõº ©ØÖ® PhÜmk 

£zvμuõμºPÐUS öuõøP ö\¾zv¯ ¤ß¦–«u•ÒÍ 

öμõUP®) ¹.6,73,800. 

 (B) •ßÝ›ø© PhÜ¢÷uõº ö\¾zu¨£h ÷Ási¯x 

¹.30,000 

 (C) ©ØÓ ¤øn¯ªÀ»õ PhÜ¢÷uõº ¹.2,15,000 

 (D) 4,000 6% •ßÝ›ø© £[SPÒ ¹.100 JÆöÁõßÖ® 

•Êø©¯õP ö\¾zu¨£mhx. 

 (E) 2,000 \õuõμn £[SPÒ ¹.100 JÆöÁõßÔ¾® ¹.75 

ö\¾zu¨£mhx. 

 (F) 6,000 \õuõμn £[SPÒ ¹.100 JÆöÁõßÔ¾® ¹.60 

ö\¾zu¨£mhx. 

 (G) Pø»¨£õÍº Fv¯® 2% •ßÝ›ø© ©ØÖ® Cuμ 

¤øn¯ªÀ»õ PhÜ¢÷uõº «uõÚx. 

 (H) •ßÝ›ø© £[Põuõ¯® {¾øÁ–2 Á¸h®. 

———————— 
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B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2019 

Fifth Semester 

Commerce with Computer Applications  

INCOME TAX – LAW AND PRACTICE – I 

(CBCS – 2017  onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Define : Income. 

 Áøμ¯ÖUPÄ® : Á¸©õÚ®. 

2. What is meant by Indirect Tax? 

 ©øÓ•P Á› GßÓõÀ GßÚ? 

3. What is meant by Previous Year? 

 •¢øu¯ Bsk GßÓõÀ GßÚ? 

4. Define the term Agricultural Income. 

 ÂÁ\õ¯ Á¸©õÚ® GßÓ ö\õÀø» Áøμ¯ÖUPÄ®. 

5. Write short note on “Tax free Securities”. 

 “Á› CÀ»õu £zvμ[PÒ” SÔzx ]Ö SÔ¨ø£ GÊuÄ®. 

6. What is Depreciation? 

 ÷u´©õÚ® GßÓõÀ GßÚ? 

Sub. Code 
7BCC5C2 
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7. Write short note on ‘Perquisites’. 

 ‘ö£ºSø\mì’ SÔzx ]Ö SÔ¨¦ GÊuÄ®. 

8. What is meant by Self-occupied property’? 

 _¯ BUQμª¨¦ ö\õzx GßÓõÀ GßÚ? 

9. Define term “Income from Business”. 

 “ÁoPzv¼¸¢x Á¸©õÚ®” GßÓ ö\õÀø» Áøμ¯ÖUPÄ®. 

10. Write a note on ‘Dividend’. 

 ‘DÄzöuõøP’ SÔzx J¸ SÔ¨ø£ GÊuÄ®. 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) How to determine the Residential Status of an 
individual? 

J¸ |£›ß Si°¸¨¦ {ø»ø¯ GÆÁõÖ wº©õÛ¨£x? 

Or 

 (b)  What is an Income? Discuss its features. 

   Á¸©õÚ® GßÓõÀ GßÚ? Auß A®\[PøÍ¨ £ØÔ 

ÂÁõvUPÄ®. 

12. (a) Mr. Rajan left for Singapore on 15.3.2016 after 
staying in India for 15 year. He returned to India on 
31.8.2018. What will be his residential status for 
the assessment year 2019–2020? 

v¸. μõáß 15 BskPÒ C¢v¯õÂÀ u[Q¯ ¤ßÚº 

15.3.2016 AßÖ ][P¨§º ö\ßÓõº. AÁº 31.8.2018 

AßÖ C¢v¯õ v¸®¤Úõº. 2019–2020 ©v¨¥mk 

BsiØPõÚ AÁμx Si°¸¨¦ {ø» GßÚÁõP 

C¸US®? 

Or 
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 (b)  Following are the incomes of Mr. Sasikumar for the 

previous year 2018–19.  
   Calculate the taxable income on the assumption 

that he is. 

  (i) Ordinary Resident 

  (ii) Not Ordinary Resident 

  (iii) Non-Resident 
Particulars Rs. 

Profit from business carried from Hyderabad 50,000

Income accrued in India but received in Hongkong 75,000

Past untaxed income brought into India  
during the previous year 42,000

Income from house property situated in Srilanka 48,000

Income from agriculture in USA 1,00,000

   •¢øu¯ 2018–19 B® BsiØPõÚ v¸. \]S©õ›ß 

Á¸©õÚ® ¤ßÁ¸©õÖ. AÁº GßÖ P¸v Á› 

ÂvUPUTi¯ Á¸©õÚzøu PnUQk[PÒ. 

  (i) C¢v¯õÂÀ Á]¨£Áº ©ØÖ® \õuõμn©õP 

Á]¨£Áº 

  (ii) C¢v¯õÂÀ Á]¨£Áº BÚõÀ \õuõμn©õP 

Á]¨£Áº AÀ» 

  (iii) C¢v¯õÂÀ Si÷¯ÓõuõÁº 
ÂÁμ[PÒ ¹. 

øíuμõ£õzv¼¸¢x ÷©ØöPõÒÍ¨£k® ÁoPzvß »õ£® 50,000

C¢v¯õÂÀ Á¸©õÚ® Dmh¨£mhx, BÚõÀ  

íõ[Põ[QÀ ö£Ó¨£mhx 75,000

•¢øu¯ BsiÀ C¢v¯õÄUS öPõsk Áμ¨£hõu  

Ph¢u Á¸©õÚ® 42,000

ÿ»[PõÂÀ Aø©¢xÒÍ Ãmk ö\õzvß Á¸©õÚ® 48,000

Aö©›UPõÂÀ ÂÁ\õ¯zuõÀ Á¸©õÚ® 1,00,000
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13. (a) List out any eight exempted incomes under  

Section 10. 

¤›Ä 10 Cß RÌ Â»US ö£ØÓ Gmk Á¸©õÚ[PøÍ²® 

£mi¯¼k[PÒ. 

Or 

 (b)  Mr. K purchased a motor car on 1.5.14 for  
Rs. 6,00,000. He gifted it to his brother, M on 1.7.16. 
M sold the car to Y on 31.12.17. K purchased the car 
from Y on 1.12.18 for his business. What would be 
the cost of the car for the purpose of depreciation? 

   v¸. K J¸ ÷©õmhõº Põøμ 1.5.14 AßÖ ¹. 6,00,000. 

AÁº Aøu 1.7.16 AßÖ uÚx \÷Põuμº, M 

Gß£Á¸US uõÚ©õP öPõkzuõº. M, 31.12.17 AßÖ 

Põøμ Y US ÂØÓõº. K uÚx ÁoPzvØPõP 1.12.18 

AßÖ Y Põøμ Áõ[QÚõº. ÷u´©õÚzvß 

÷|õUPzvØPõP Põ›ß Âø» GßÚÁõP C¸US®? 

14. (a) Calculate taxable HRA from the following : 
Particulars Rs. 

Basic pay 5,000 p.m.

DA (Not forming) 3,000 p.m.

HRA 3,000 p.m.

Actual Rent paid 3,250 p.m.

Medical Allowance 500 p.m.

  ¤ßÁ¸ÁÚÁØÔ¼¸¢x Á› ÂvUPU Ti¯ HRA IU 

PnUQk[PÒ :  

ÂÁμ[PÒ ¹. 

Ai¨£øh Fv¯® 5,000 p.m.

£g\¨£i öPõk¨£ÚÄ (E¸ÁõUPÂÀø») 3,000 p.m.

Ãmk ÁõhøP¨£i 3,000 p.m.

Esø©¯õÚ ÁõhøP ö\¾zu¨£mhx 3,250 p.m.

©¸zxÁ öPõk¨£ÚÄ 500 p.m.

Or 
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 (b)  Determine the net annual value in the following : 

Particulars Rs. 

Municipal Value 1,00,000

Fair Rent 1,20,000

Standard rent 1,25,000

Actual Rent 1,00,000

Municipal Taxes 15,000

   ¤ßÁ¸ÁÚÁØÔÀ {Pμ Bsk ©v¨ø£z wº©õÛzuÀ : 

ÂÁμ[PÒ  ¹. 

|Pμõm] ©v¨¦ 1,00,000

{¯õ¯©õÚ ÁõhøP 1,20,000

{ø»¯õÚ ÁõhøP 1,25,000

Esø©¯õÚ ÁõhøP 1,00,000

|Pμõm] Á› 15,000

15. (a) Profit and loss account of Mr. Senthil is as follows : 

Particulars Rs. Particulars Rs. 

To Salaries 50,000 By Gross profit 2,00,000

To Income tax 9,000 By Dividend 20,000

To Entertainment expenses 20,000   

To Net profit 1,41,000   

 2,20,000  2,20,000

  Salary includes Mr. Senthil salary of Rs. 30,000. 
Compute income from business. 
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  v¸. ö\¢v¼ß C»õ£ |mh PnUS ¤ßÁ¸©õÖ : 

ÂÁμ[PÒ ¹. ÂÁμ[PÒ ¹. 

Fv¯[PÒ 50,000 ö©õzu »õ£® 2,00,000

Á¸©õÚ Á› 9,000 DÄz öuõøP 20,000

ö£õÊx÷£õUS ö\»ÄPÒ 20,000 

{Pμ »õ£® 1,41,000   

 2,20,000  2,20,000

  \®£ÍzvÀ v¸. ö\¢vÀ \®£Í® ¹. 30,000 

ÁoPzv¼¸¢x Á¸©õÚzøu PnUQk[PÒ. 

Or 

 (b)  Ganesan furnishes the following particulars of his 
income for the previous year 2018-19. Compute his 
Income from Other Sources for the assessment year 
2019–20. 

Particulars Rs. 

Dividend (Gross) from Ashok Leyland Ltd. 25,000

Dividend from a Co-operative society 5,000

Interim dividend from Rane (Madras) Ltd. 6,000

Dividend from a foreign company 26,000

Dividend from U.T.I. 3,000

  P÷n\ß uÚx Á¸©õÚzvß ¤ßÁ¸® ÂÁμ[PøÍ •¢øu¯ 

Bsk 2018-19 US AÎUQÓõº. 2019-20 ©v¨¥mk 

BsiØPõÚ ¤Ó ‰»[PÎ¼¸¢x AÁμx Á¸©õÚzøu 

PnUQk[PÒ. 

ÂÁμ[PÒ ¹. 

A÷\õU ÷»»sm ¼ªöhm {ÖÁÚzvhª¸¢x 

DÄzöuõøP (ö©õzu®) 25,000

J¸ TmkÓÄ \‰Pzv¼¸¢x DÄzöuõøP 5,000
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ÂÁμ[PÒ ¹. 

μõ÷Ú (ö©mμõì) ¼ªöhh® {ÖÁÚzvhª¸¢x 

CøhUPõ» DÄzöuõøP 6,000

J¸ öÁÎ|õmk {ÖÁÚzvhª¸¢x DÄzöuõøP 26,000

².i.I Â¼¸¢x DÄzöuõøP 3,000

 Part C  (3  10 = 30) 

Answer any three questions. 

16. What is meant by Agricultural Income? How tax is 
computed on Agricultural Income? 

ÂÁ\õ¯ Á¸©õÚ® GßÓõÀ GßÚ? ÂÁ\õ¯ Á¸©õÚzvÀ 

Á› GÆÁõÖ PnUQh¨£kQÓx? 

17. Following are the incomes of Ganesan for the previous 
year 2018–19. 

Particulars Rs. 

Salaries received in India 2,00,000

Commission received in India for services 
rendered in Hongkong 4,00,000

Pension received in Indonesia for services 
rendered in India 1,50,000

House property income received in UK for the 
house situated in India (computed) 1,25,000

Business income from manufacturing unit set 
up in India 20,000

Business income received in Singapore from a 
business controlled from India 40,000

Consultation fees received in Thailand from a 
profession controlled from India 60,000

Income earned in USA from a business setup in 
USA and controlled from there. 50,000
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Particulars Rs. 

Profession income received in Austria from 
profession set up in Austria 40,000

Pension earned and received in Japan 20,000

Interest on Securities of UK Government 
received in UK. 50,000

Income of the year 2009 received in West Indies 
and brought into India on 30.8.2018. 60,000

 Ascertain the total income of Ganesan if he is 

 (a) Resident and ordinarily resident in India 

 (b) Resident but not ordinarily resident in India 

 (c) Non-resident in India. 

 •¢øu¯ 2018–19 B® BsiØPõÚ P÷n\Ûß Á¸©õÚ® 

¤ßÁ¸©õÖ. 

ÂÁμ[PÒ ¹. 

C¢v¯õÂÀ ö£Ó¨£mh \®£Í® 2,00,000

íõ[Põ[QÀ ÁÇ[P¨£mh ÷\øÁPÐUPõP 

C¢v¯õÂÀ Pªåß ö£Ó¨£mhx 4,00,000

C¢v¯õÂÀ ÁÇ[P¨£mh ÷\øÁPÐUS 

C¢÷uõ÷Úõ]¯õÂÀ K´Åv¯® ö£Ó¨£mhx 1,50,000

C¢v¯õÂÀ Aø©¢xÒÍ ÃmiØS C[Q»õ¢vÀ 

ö£Ó¨£mh Ãmk ö\õzx Á¸©õÚ® 

(PnUQh¨£mhx) 

1,25,000

C¢v¯õÂÀ Aø©UP¨£mh EØ£zv ¤›ÂÀ 

C¸¢x ÁoP Á¸©õÚ® 20,000

C¢v¯õÂÀ C¸¢x Pmk¨£kzu¨£k®  

ÁoPzv¼¸¢x ][P¨§›À ö£Ó¨£mh ÁoP 

Á¸©õÚ® 

40,000
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ÂÁμ[PÒ ¹. 

C¢v¯õÂÀ C¸¢x Pmk¨£kzu¨£k® J¸ 

öuõÈ¼À C¸¢x uõ´»õ¢vÀ ö£Ó¨£mh 

B÷»õ\øÚU Pmhn® 

60,000

Aö©›UPõÂÀ J¸ ÁoP Aø©¨¤¼¸¢x 

Aö©›UPõÂÀ \®£õvzu Á¸©õÚ® ©ØÖ® 

A[Q¸¢x Pmk¨£kzu¨£kQÓx 

50,000

Bìv›¯õÂÀ Aø©UP¨£mh öuõÈ¼À C¸¢x 

Bìv›¯õÂÀ ö£Ó¨£mh öuõÈÀ Á¸©õÚ® 40,000

Bìv›¯õÂÀ Aø©UP¨£mh á¨£õÛ¯zvÀ 

K´Åv¯® ö£ØÓx ©ØÖ® ö£Ó¨£mhx 

20,000

C[Q»õ¢vÀ ö£Ó¨£mh C[Q»õ¢x Aμ\õ[Pzvß 

£zvμ[PÒ «uõÚ Ámi 50,000

2009 B® Bsiß Á¸©õÚ® ÷©ØQ¢v¯z 

wÄPÎÀ ö£Ó¨£mk 30.8.2018 AßÖ 

C¢v¯õÄUSÒ öPõskÁμ¨£mhx 

60,000

 P÷n\Ûß ö©õzu Á¸©õÚzøu PnUQmk AÁº 

 (A) C¢v¯õÂÀ Á]¨£Áº ©ØÖ® \õuõμn©õP Á]¨£Áº 

 (B) C¢v¯õ Á]¨£Áº BÚõÀ \õuõμn©õP Á]¨£Áº 

AÀ» 

 (C) C¢v¯õÂÀ Si÷¯ÓõuÁº. 

18. State Fifteen incomes exempted from Income tax U/S 10. 

 Á¸©õÚ Á› U/S 10 C¼¸¢x Â»US ö£ØÓ Á¸©õÚ[PÒ 

£vøÚ¢x TÖP. 

19. Sri Baskar constructed one house which consists of two 
equal independent units in 1990. One of the units is let 
out and other unit is occupied for his own residence. The 
let out portion was also self-occupied for 2 months. The 
particulars are : 
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 Particulars Rs. 

Fair rental value of full house 9,600

Municipal rental value of full house 5,000

Actual rent 50% portion (monthly) 400

Local taxes 1000

Ground rent 100

Repairs 900

Insurance premium 200

Collections charges 300

Interest on loan taken for construction 1000

His income from all other sources 12,000

 Determine his income from House Property. 

 ÿ £õìPº 1990 CÀ Cμsk \©©õÚ _¯õwÚ A»SPøÍU 

öPõsk J¸ ÃmøhU PmiÚõº. A»SPÎÀ JßÖ 

öÁÎ÷¯Ó¨£kQÓx, ©ØÓ A»S uÚx ö\õ¢u 

Si°¸¨¦UPõP BUQμªUP¨£mkÒÍx. öÁÎ÷¯Ö® 

£Sv²® 2 ©õu[PÐUS _¯©õP BUQμªUP¨£mhx. 

ÂÁμ[PÒ :  
ÂÁμ[PÒ ¹. 

•Ê Ãmiß {¯õ¯©õÚ ÁõhøP ©v¨¦ 9,600

•Ê Ãmiß |Pμõm] ÁõhøP ©v¨¦ 5,000

Esø©¯õÚ ÁõhøP 50% £Sv (©õuõ¢vμ) 400

EÒÑº Á› 1000

uøμ ÁõhøP 100

£Êx 900
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ÂÁμ[PÒ ¹. 

Põ¨¥mk \¢uõ 200

Á`À Pmhn[PÒ 300

Pmk©õÚzvØPõP GkUP¨£mh PhÝUPõÚ Ámi 1000

Pmk©õÚzvØPõP GkUP¨£mh ©ØÓ AøÚzx 

‰»UPhßPÎ¼¸¢x® AÁμx Á¸©õÚ® 12,000

 íÄì ö\õzvÀ C¸¢x AÁμx Á¸©õÚzøu wº©õÛUPÄ®. 

20. Mr.Kumar an advocate, furnishes the following receipts 
and payment for the PY 2018–19. 

Particulars Rs. Particulars Rs. 

To Balance b/d 6,540 By Rent 2,400

To Legal fees 84,400 By Telephone 3,000

To Interest on debentures 2,700 By Salaries 2,400

To Salary (part time Lecture) 3,600 By Travelling charges 560

To Gift from client 10,000 By Office expenses 840

To Rent 6,000 By Stamp paper 1,600

To Interest on foreign 
securities 

8,000 By Interest on loan 870

To Refund of company deposit 2,000 By Donation to a 
school 

5,000

  By Balance c/d 1,06,570

  1,23,240  1,23,240

 Compute the Professional Income. 
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 v¸. S©õº J¸ ÁÇUPÔbº, PY 2018–19 UPõÚ ¤ßÁ¸® 

μ^xPøÍ²® Pmhnzøu²® AÎUQÓõº. 

ÂÁμ[PÒ ¹. ÂÁμ[PÒ ¹. 

C¸¨¦ R/öPõ 6,540 ÁõhøP 2,400

\mh Pmhn® 84,400 öuõø»÷£] 3,000

Phß £zvμ[PÎÀ BºÁzvØS 2,700 Fv¯[PÒ 2,400

\®£Í® (£Sv ÷|μ Â›Äøμ) 3,600 £¯nU 

Pmhn[PÒ 

560

ÁõiUøP¯õÍ›hª¸¢x £›_ 10,000 A¾Á»P ö\»ÄPÒ 840

ÁõhøP 6,000 •zvøμ PõQu® 1,600

öÁÎ|õmk £zvμ[PÒ «uõÚ Ámi 8,000 PhÝUPõÚ Ámi 870

{ÖÁÚzvß øÁ¨¦z öuõøPø¯z 

v¸¨£¨ ö£ÖuÀ 

2,000 J¸ £ÒÎUS 

|ßöPõøh 

5,000

  C¸¨¦ R/C 1,06,570

  1,23,240  1,23,240

 öuõÈÀ •øÓ Á¸©õÚzøu PnUQk[PÒ. 

______________ 
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B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2019 

Fifth Semester 

Commerce with Computer Applications 

Elective : OPERATING SYSTEM 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is an operating system? 

 C¯UP •øÓø© GßÓõÀ GßÚ? 

2. What do you mean by multiprogramming? 

 £»{μ»õUP® GßÓõÀ GßÚ? 

3. Distinguish between process and processor? 

 ö\¯À•øÓ ©ØÖ® ö\¯¼&Cuß ÷ÁÖ£õkPÒ ¯õøÁ? 

4. What is interprocess communication? 

 Cøh{ø» ö\¯À•øÓ GßÓõÀ GßÚ? 

5. Define thrashing.  

 ÃÌa] GßÓõÀ GßÚ? 

6. What is the purpose of memory management? 

 {øÚÁP ÷©»õsø©°ß ÷|õUP® GßÚ? 

Sub. Code 
7BCCE1A 
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7. List down file properties.  

 ÷Põ¨¤ß £s¦PÒ ¯õøÁ? 

8. What is reliability? 

 |®£Pzußø© GßÓõÀ GßÚ? 

9. What do you mean by shared devices? 

 £Qμ¨£mh \õuÚ[PÒ GßÓõÀ GßÚ? 

10. Define the term computer virus and computer worm.  

 PoÛ øÁμì ©ØÖ® PoÛ ¦Ê GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Write short notes on personal computer system.  

  uÛ¨£mh PoÛ Aø©¨¦ £ØÔ ]Ö SÔ¨¦ ÁøμP.  

Or 

 (b) Why do we call OS as resource manager? Discuss.  

  C¯UP •øÓø©ø¯ Hß ÁÍ÷©»õÍº Gß TÖQ÷Óõ® 

ÂÍUSP. 

12. (a) Explain various process states.  

  £À÷ÁÖ ö\¯À•øÓ {ø»°øÚ ÂÍUSP. 

Or 

 (b) Discuss about semaphores in OS.  

  C¯UP •øÓø©°À EÒÍ semaphore ø¯ ÂÁ›.  
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13. (a) Write the functions of memory management.  

  {øÚÁP ÷©»õsø©°ß £oPÒ SÔzx GÊxP.  

Or 

 (b) Explain overlay memory management with 
example.  

  ÷©»kUS {øÚÁP ÷©»õsø© £ØÔ Euõμnzxhß 

GÊxP.  

14. (a) Discuss about file system objects and its operations.   

  ÷Põ¨¦ Aø©¨¦ ö£õ¸mPÒ ©ØÖ® Auß 

ö\¯À£õkPÒ SÔzx ÂÁ›.  

Or 

 (b) Write short notes on file abstraction and file 
naming.  

  ÷Põ¨¦ _¸UP® ©ØÖ® ÷Põ¨¦ ö£¯›kuÀ SÔzx ]Ö 

SÔ¨¦ GÊxP.  

15. (a) Write about OS protection resources.  

  C¯UP •øÓø© £õxPõ¨¦ ÁÍ® SÔzx ÂÁ›.  

Or 

 (b) Write short notes on external security.  

  öÁÎ¦μ £õxPõ¨¦ SÔzx ]Ö SÔ¨¦ GÊxP.  

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain about evolution of operating system.  

 C¯UP •øÓø©°ß £›nõ© ÁÍºa] SÔzx ÂÍUSP. 

17. Describe the Banker’s Algorithm for deadlock avoidance.  

 •mkUPmøh uÂºzuÀ SÔzx Banker TÖ® ÁÈ•øÓPøÍ 

GÊxP.  
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18. Describe paged memory management.  

 £UP {øÚÁP ÷©»õsø© SÔzx ÂÍUSP. 

19. Explain about file security and protection.  

 ÷Põ¨¦ £õxPõ¨¦ ©ØÖ® PõÁÀ SÔzx ÂÍUSP. 

20. Discuss any three disk scheduling algorithm.  

 H÷uÝ® ‰ßÖ Ámk vmhªhÀ ÁÈ•øÓPÒ SÔzx ÂÁ›.  

———————— 
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B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2019 

Fifth Semester 

Commerce with Computer Applications  

Elective – WEB TECHNOLOGIES  

(CBCS – 2017  onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is internet? 

 Cøn¯uÍ® GßÓõÀ GßÚ? 

2. What is WWW? 

 WWW GßÓõÀ GßÚ? 

3. What is Protocol? 

 ö|Ô•øÓ GßÓõÀ GßÚ? 

4. List out some of the ISP? 

 Cøn¯uÍ ÷\øÁ ÁÇ[S|ºPøÍ £mi¯¼kP. 

5. What is email?  

 ªßÚg\À GßÓõÀ GßÚ? 

6. What do you mean by cyberspace?  

 ªßöÁÎ GßÓõÀ GßÚ? 

Sub. Code 
7BCCE1B 
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7. What is webpage? 

 Áø»¨£UP® GßÓõÀ GßÚ? 

8. What is multimedia? 

 Multimedia GßÓõÀ GßÚ? 

9. What is hypermedia? 

 Hypermedia  GßÓõÀ GßÚ? 

10. What are the different lists available in HTML? 

 HTML ß £À÷ÁÖ £mi¯ø» GÊxP. 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the services available in the web? Discuss. 

  Cøn¯uÍ ÷\øÁPÒ ¯õøÁ? ÂÁ›. 

Or 

 (b)  What are the different types of internet connection? 

   Cøn¯ Cøn¨¤ß £À÷ÁÖ ÁøPPÒ ¯õøÁ? 

12. (a) Write short note on Internet service providers. 

  Cøn¯uÍ ÷\øÁ ÁÇ[S|ºPÒ SÔzx ]Ö SÔ¨¦ 

ÁøμP. 

Or 

 (b)  Write short note on web browsers. 

   Cøn¯ E»õÂPÒ SÔzx ]Ö SÔ¨¦ GÊxP. 
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13. (a) Explain about Online services. 

  Online ÷\øÁPøÍ ÂÁ›.  

Or 

 (b)  How will you access other parts of Internet? 
Explain. 

   Cøn¯uÍzvß ÷ÁÖ £SvPøÍ GÆÁõÖ AqSÁx? 

14. (a) How will you setup a web server? 

  Cøn¯ ÁÇ[Qø¯ GÆÁõÖ Aø©¨£x GÚ GÊxP. 

Or 

 (b)  How will you transmit data over dedicated phone 
lines? 

   Aº£oUP¨£mh öuõø»÷£] ‰»® uμÂøÚ GÆÁõÖ 

£›©õØÓ® ö\´Áõ´? 

15. (a) Write about different list tag in html w/eg. 

  £À÷ÁÖ ÁøP¯õÚ HTML ¼ß list tag ø¯ 

Euõμnzxhß GÊxP. 

Or 

 (b)  How will you format a paragraph using HTML? 

  HTML ‰»® Kº £zvø¯ GÆÁõÖ ÁiÁø©¨£x GÚ 

TÖP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain about the history of web and internet. 

 Web ©ØÖ® Internet ß Áμ»õØÔøÚ GÊxP. 

17. Explain about the differences between SLIP and PPP 
protocols.  

 SLIP ©ØÖ® PPP ö|Ô•øÓPÐUS EÒÍ ÷ÁÖ£õkPøÍ 

ÂÍUSP. 
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18. How will you access Internet mail? Explain. 

 Cøn¯ Ag\ø» GÆÁõÖ AqSÁx? ÂÍUSP. 

19. Explain about hardware and software requirements of 
web servers. 

 Cøn¯ ÁÇ[Q°ß Áßö£õ¸Ò ©ØÖ® ö©ßö£õ¸øÍ 

ÂÍUSP. 

20. What is image map? Explain with example. 

£h Áøμ¨£h® GßÓõÀ GßÚ? Euõμnzxhß ÂÍUSP. 

 
———————— 
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B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2019 

Fifth Semester 

Commerce with Computer Applications 

Elective : COSTING 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is cost sheet? 

 AhUPÂø» AÔUøP GßÓõÀ GßÚ? 

2. What is absorption? 

 DºUP¨£kuÀ GßÓõÀ GßÚ? 

3. State any two special features of job costing. 

 £o AhUPÂø»°¯¼ß ]Ó¨¦ C¯À¦PÎÀ H÷uÝ® 

CμsiøÚ TÖP. 

4. Write a short note on Idle time. 

 ÂniUP¨£mh ÷|μ® £ØÔ ]Ö SÔ¨¦ GÊxP. 

5. What do you mean by minimum stock level? 

 SÖ \μUS  {ø» Gß£uß EÚx P¸zx ¯õx? 

6. Give the meaning of overtime. 

 ªøP ÷|μ® Gß£uß ö£õ¸Ò u¸P. 

Sub. Code 
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7. What is economic ordering quantity? 

 ]UPÚ öPõÒ•uÀ Bøn AÍÄ GßÓõÀ GßÚ? 

8. What is merit rating? 

 uSv{ø» Ãu® GßÓõÀ GßÚ? 

9. What is cost center? 

 AhUP Âø» ø©¯® GßÓõÀ GßÚ? 

10. What is meant by apportionment of overheads? 

 ÷©Øö\»Ä £Qº¢uÎzuÀ  Gß£uß P¸zx ¯õx? 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the advantage and disadvantage of cost 
accounting? 

  AhUPÂø» PnUQ¯¼ß |ßø©PÒ ©ØÖ® wø©PÒ 

¯õøÁ? 

Or 

 (b) Difference between cost accounting and financial 
accounting. 

  AhUPÂ¯À PnUQ¯ø»²®, {v {ø» 

PnUQ¯ø»²® ÷ÁÖ£kzxP. 

12. (a) Material X is used as follows: 

  Maximum usage in a month 300 units 

  Minimum usage in a month 200 units 

  Normal usage in a month 220 units 

  Reorder period: 

  Maximum 3 months 

  Minimum 1 month 

  Reorder Quantity 800 units 

  Maximum reorder period for emergency purchases 
15 days. 
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  Calculate: 

  (a) Reorder level 

  (b) Minimum level 

  (c) Maximum level 

  (d) Average stock level 

  (e) Danger level 

  ¤ßÁ¸ÁÚÁØøÓ ‰»¨ö£õ¸Ò ‘X’ £¯ß£kzxQÓx 

  ©õuzvß EÒÍ AÍÄ £¯ß£õk 300 A»SPÒ 

  ©õuzvß SøÓ¢u AÍÄ £¯ß£õk 200 A»SPÒ 

  ©õuzvß C¯À¦ £¯ß£õk 220 A»SPÒ 

  ©Ö•øÓ  Bøn Põ»®  – AvP£m\® 3 ©õu® 

SøÓ¢u£m\® 1 ©õu® 

  ©Ö•øÓ Bøn AÍÄ – 800 A»SPÒ 

  AÁ\μ Põ» öPõÒ•u¾UPõÚ AvP£m\ ©Ö•øÓ  

Põ»® – 15 |õmPÒ 

  PnUQkP : 

  (A) ©Ö•øÓ AÍÄ {ø» ;  

  (B) Ea\ {ø», 

  (C)  SøÓ¢u AÍÄ {ø», 

  (D) \μõ\› \μUQ¸¨¦ {ø» 

  (E)  A£õ¯ AÍÄ {ø» 

Or 

 (b) From the following particulars Calculate EOQ and 
Number of orders placed in a year 

  Annual usage 2000 units 

  Cost of an order 80 

  Pricing per unit 20 

  Storage and transport cost 10% of price. 
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  ©Ö Bøn AÍÄ ©ØÖ® GzuøÚ Bønø¯ 

Á¸hzvØS ÷£õh ÷Ásk® GÚU PõsP : 

  Á¸hz ÷uøÁ  –2,000 A»SPÒ 

  J¸ Bøn ÷£õha ö\»ÄPÒ  (¹)  – 80 

  J¸ A»Qß Âø» (¹) –  20 

  £õxPõ¨¦ ©ØÖ® ÷£õUS Áμzx ö\»Ä – Âø»°À 10% 

13. (a) From the following information. Calculate Labour 
turnover under separation method. No of workers 
on the payroll 

  At the beginning of the month 500 

  At the end of the month 600 

  During the month 5 workers left 20 person were 
discharged. 

  ¤ßÁ¸® ÂÁμ[PøÍ öPõsk. uÛzu •øÓ°ß RÌ 

öuõÈ»õÍº _ÇØ] ÂQuzøu PnUQhÄ®. 

  \®£Í¨ £mi¯À £i öuõÈ»õÍºPÒ GsoUøP  

  ©õu öuõhUPzvÀ – 500 

  ©õu CÖv°À – 600 

  C®©õuzvÀ 5 £o¯õÍºPÒ £oUSz  v¸®£ÂÀø»  

20 £o¯õÍºPÒ }UP® ö\´¯¨£mhÚº. 

Or 

 (b) From the following particulars calculate the 
earnings of a workers under 

  (i) Halsey plan 

  (ii) Rowan plan 

  (iii) Time allowed 30 hours 

  (iv) Time taken 20 hours 

  (v) Hourly rate of wages is RS. 2 per hour plus a 
dearness allowance @ 50 Paise per hour 
worked 
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  ¤ßÁ¸® uPÁÀPÎ¼¸¢x. 

  (i) íõÀ] 
  (ii) ÷μõÁß •øÓPÎß£i J¸ öuõÈ»õÎ°ß 

Á¸Áõø¯U PnUQkP. 
  (iii) AÝ©vUP¨£mh ÷|μ® – 30 ©oPÒ 
  (iv) GkzxUöPõÒÍ¨£mh ÷|μ® – 20 ©oPÒ 
  (v) J¸ ©o ÷|μzvØS ¹.2 Ãu® T¼²® EøÇzu 

©o ÷|μ® JßÔØS 50 ø£\õ Ãu® 

APÂø»¨£i²® GÚU öPõÒP. 

14. (a) Calculate  the machine hour rate for A 
  Cost of machine Rs. 16000 
  Scrap value 1000 
  Working life 10000 hours 
  Running hours for a weekly period 160 hours 
  Average repairs and maintenance for a 4 weekly 

period 120 
  Standing charges allocated to machine A for a  

4 weekly period Rs 40 
  Power 4 units per hour at a cost of 25 paise per 

hour.  
  C¯¢vμ® A – US EshõÚ C¯¢vμ©o Ãuzøu 

PnUQkP :– 
  C¯¢vμzvß AhUP®  – ¹. 16000 
  AÍÂh¨£mh ÂØ£øÚ PÈÄ ©v¨¦  – ¹. 1000 
  \›¯õÚ ö\¯À£õmk ÁõÌÄ  – 10000 ©oPÒ 
  |õßS Áõμ[PÐUPõÚ C¯[S ©oPÒ 160 ©oPÒ 
  |õßS Áõμ[PÐUPõÚ \μõ\› ö\»Ä ©ØÖ® £μõ©›¨¦ 

¹. 120 
  |õßS Áõμ[PÐUPõÚ C¯¢vμ® «x JxUP¨£mh 

{ø»¯õÚ Âv¨¦ ¹.40 
  \Uv 4 A»SUS J¸ ©oUS 25 ø£\õ Ãu® J¸ ©o 

÷|μ® 
Or 
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 (b) Compute the overheads, allocable to production 

departments X and Y from the following : 

  There are two service departments S1 and S2.  
S1 renders service to X and Y in the ratio of 5:3 and 
S2 renders service to X and Y in the ratio of 3:1 
overheads as per primary overheads distribution 
are X Rs 58,800, Y Rs. 39,400 SI Rs. 32,800, S2 Rs. 
12400. 

  ¤ßÁ¸® ÂÁμ[PøÍ öPõsk EØ£zv xøÓPÍõÚ  

X ©ØÖ® YUS £Qº¢uÎUP Ti¯ ÷©Ø ö\»ÄPÒ 

PnUQkP. 

  S1 ©ØÖ® S2 Gß£x ÷\øÁ xøÓPÍõS® S1 Auß 

÷\øÁø¯ EØ£zv {ÖÁÚ©õÚ X ©ØÖ® YUS   

5 : 3 GßÓ ÂQuzvÀ AÎUQÓx. S2 Auß ÷\øÁø¯ 

EØ£zv {ÖÁÚ©õÚ X ©ØÖ® YUS  3:1 GßÓ ÂQuzvÀ 

AÎUQÓx.  •ußø©¯õÚ ÷©Øö\»Ä £[PÎ¨¤À 

÷©Øö\»ÄPÍõÁÚ X ¹.58,800 Y 39,400 S1 ¹. 32,800 

S2  ¹. 12,400. 

15. (a) From the following particulars compute the 
machine hours rate 

  Cost of machine Rs. 11000 

  Scrap value Rs 680 

  Repairs of the effective working life Rs. 1500 

  Standard charges for 4 weekly period Rs 40 

  Effective working life 10000 hours 

  Power used 6 units per hour at 5 paise per unit 

  Hours worked in 4 weekly period 120 hours 
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  ¤ßÁ¸® Â£μ[PøÍz öPõsk G¢vμ ©o ÷|μ Ãu® 

PõsP. 

  C¯¢vμzvß AhUP® ¹.11000 

  PÈÄ ©v¨¦ ¹.680 

  |øh•øÓ ÁõÌUøP°À C¯¢vμzvß £Êx –¹.1500 

  |õßS Áõμ Põ»zvØPõÚ {ø»¯õÚ  ö\»Ä ¹.40 

  C¯¢vμzvß \›¯õÚ ÁõÌUøP Põ»® 10000 ©oPÒ 

  £¯ß£kzv¯ ªß\Uv : J¸ ©oUS 6 A»SPÒ Ãu® 

J¸ A»S 5 ø£\õ. 

  4 Áõμ Põ»zvØPõÚ ÷Áø» ©o ÷|μ® 120 ©oPÒ.   

Or 

 (b) From the following information prepare Job No 200 
a/c in the job cost ledger 

  Direct material received 3600 

  Direct material received from stores 25200 

  Direct wages 14400 

  Other direct expenses 1500 

  The works overheads are to be taken at 75% of 
wages and administration expenses overheads at 

  25% of works cost. The contract price of job no 200 
which is completed is fixed as Rs. 82500. 

  ¤ßÁ¸® uPÁÀPøÍ öPõsk ÷Áø» Gs 200 UPõÚ 

÷Áø» AhUP ÷£÷μmøh u¯õº ö\´P:– 

  ÷Áø» Gs 200 •i²ØÓ J¨£¢u Âø» ¹.82500 

  ÷|μi öPõÒ•uÀ ö\´¯¨£mh ‰»¨ö£õ¸Ò 3600 

  Pøh°¼¸¢x ö£Ó¨£mh ‰»¨ö£õ¸Ò 25200 

  ÷|μi T¼ 14400 

  Cuμ ÷|μi ö\»ÄPÒ 1500 

  öuõÈØ\õø» ÷©Øö\»ÄPÒ 75% T¼ «x® ©ØÖ® 

{ºÁõP ÷©Øö\»ÄPÒ 25% öuõÈØ\õø» 

÷©Øö\»ÄPÒ «x® GkzxUöPõÒÍ¨£mhx. 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. Prepare Store Ledger Under FIFO Method. 

Date Particulars Units Rate 

November 1 Opening Balances 500 At 200

November 3 Issue 70  

November 4 Issue 100  

November 8 Issue 80  

November 13 Purchase 200 At 190

November 14 Returned From Dept. 15  

November 16 Issue 180  

November 20 Purchase 240 At 190

November 24 Issue 300  

November 25 Purchase 320 At 190

November 26 Issue 115  

November 27 Returned To Dept. 35  

November 28 Purchases 100 At 190

 The Stock Verifier of the Factory had found Shortage of 
10 Units on 22nd and Left a Note Accordingly. 
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 \μUS C¸¨¦ ÷£÷μmkU PnUøPz u¯õº ö\´P : 

 öÁÎ±mkPøÍ •u¼À Á¢ux •u¼À ÁÇ[PÀ GßÓ 

•øÓ°À Âø»U PnUQh ÷Ásk®. 

Date Particulars Units Rate 

|Á®£º 1 öuõhUP C¸¨¦ 500 At 200

|Á®£º 3 ÁÇ[Q¯x 70  

|Á®£º 4 ÁÇ[Q¯x 100  

|Á®£º 8 ÁÇ[Q¯x 80  

|Á®£º 13 öPõÒ•uÀ 200 At 190

|Á®£º 14 xøÓ°¼¢x v¸¨£® 15  

|Á®£º 16 ÁÇ[Q¯x 180  

|Á®£º 20 öPõÒ•uÀ 240 At 190

|Á®£º 24 ÁÇ[Q¯x 300  

|Á®£º 25 öPõÒ•uÀ 320 At 190

|Á®£º 26 ÁÇ[Q¯x 115  

|Á®£º 27 xøÓ°¼¢x v¸¨£® 35  

|Á®£º 28 öPõÒ•uÀ 100 At 190

 \μUSPøÍ \›£õº¨£Áº  22B® ÷uv 10 A»SPÒ SøÓ£õk 

C¸¨£uõPU PnUQmkÒÍõº. 
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17. From the following particulars prepare a statement 

showing 

 (a) Raw material consumed 

 (b) Prime cost 

 (c) Work cost 

 (d) Cost of production 

 (e) Profit  

Particulars (1.1.2016) (31.12.2016)

Raw materials 25000 26200

Finished goods 17300 15700

Work in progress 8200 9100

Purchase of raw materials  21900

Carriage inwards  1100

Direct wages  17200

Direct expenses  1200

Work overheads  9100

Administrative expenses  3200

Selling and distribution overheads  4200

Sales of finished goods  72300

 ¤ßÁ¸® Â£μ[PøÍU öPõsk :– 

 (A) ~Pμ¨£mh  ‰»uÚ® 

 (B) •ußø© AhUP® 

 (C) ÷Áø» ÷©Øö\»Ä AhUP® 

 (D) EØ£zv AhUP® ©ØÖ® 

 (E) C»õ£ AÔUøP u¯õ›UP 
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 (1.1.2016) (31.12.2016)

‰»uÚ¨ ö£õ¸ÒPÒ 25000 26200

•iÁøh¢u ö£õ¸Ò 17300 15700

÷Áø»°ß ÁÍºa] 8200 9100

‰»uÚ ö£õ¸Ò öPõÒ•uÀ  21900

EÒyUS T¼  1100

÷|μiU T¼  17200

÷|μiU ö\»Ä  1200

÷Áø» ÷©Ø ö\»ÄPÒ  9100

{ºÁõP ö\»Ä  3200

ÂØ£øÚ ©ØÖ® £QºÄ ö\»Ä   4200

•iÄÖ ö£õ¸mPÎß ÂØ£øÚ  72300

18. Product A is obtained after it passes through three 
distinct process. Prepare process account from the 
following 

Particulars Total Process 
I 

Process 
II 

Process 
III 

Materials 15084 5200 3960 5924 

Wages 18000 4000 6000 8000 

Production 
overheads 

18000 – – – 

  1000 units of materials @ Rs. 6 per unit were 
introduced in process I, Production overheads is to 
be distributed as 100 % on wages. 

Process Total output Normal loss Value of scrap per unit

I 950 5% 4 

II 840 10% 8 

III 750 15% 10 
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 ö£õ¸Ò A ‰ßÖ ÷ÁÖ £i•øÓPÎÀ u¯õμõQÓx ¤ßÁ¸® 

ö\´vPÎ¼¸¢x £i•øÓ PnUSPøÍ u¯õº ö\´P : 

 ö©õzu® £i•øÓ 

I 
£i•øÓ 

II 
£i•øÓ 

III 

‰»¨ 

ö£õ¸mPÒ 

15084 5200 3960 5924 

T¼ 18000 4000 6000 8000 

EØ£zv 

÷©Àö\»Ä 

18000 – – – 

 £i•øÓ 1 À 1000 A»SPÒ, AhUPÂø» A»S JßÖUS 

¹.6 Ãu® AÎUP£kQÓx.  EØ£zv ÷©Àö\»Ä 100% T¼ 

Ai¨£øh°À £Qº¢uÎUP¨£kQÓx. 

£i•øÓ ö©õzu EØ£zv 

ö\´u A»S 

 \õuõμn 

|èh® 

J¸ A»Qß 

xsk ©v¨¦ 

I 950 5% 4 

II 840 10% 8 

III 750 15% 10 

19. A company has three production departments P1, P2, P3 
and two service departments S1 and S2. The following 
data are extracted from the records of the company for a 
particulars given period :  

Particulars Amount 

Rent and rates 25000 

General lighting 3000 

Indirect wages 7500 

Power 7500 

Depreciation on machinery 50000 

Sundries expenses 50000 
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  Departments 

Particulars Total P1 P2 P3 S1 S2 

Direct wages 

(Rs) 

50000 15000 10000 15000 7500 2500

H.P. of 
machine used 

150 60 30 50 10 – 

Cost of 
machinery 

(Rs.) 

1250000 300000 400000 500000 25000 25000

Production 

hours worked 

– 6225 4028 4066 – – 

Floor space 

used (Sq.mtr) 

10000 2000 2500 3000 2000 500

Lighting 
points(Nos) 

60 10 15 20 10 5

 Service departments expenses allocations 

 P1 P2 P3 S1 S2 

S1 20% 30% 40% – 10%

S2 40% 20% 30% 10% – 

 You are required to compute the overhead rate of 

production departments using repeated distribution 

method. 
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 J¸ {Ö©® ‰ßÖ EØ£zv xøÓPøÍ²®( P1, P2, ©ØÖ® P3) 

©ØÖ® Cμsk ÷\øÁ xøÓPÍõÚ S1 ©ØÖ® S2  xøÓPøÍ 

öPõsk EÒÍx.  ¤ßÁ¸® ¦ÒÎ Â£μ[PøÍ C¢u 

{Ö©zvß HkPÎ¼¢x  GkUP¨£mhøÁ J¸ SÔ¨¤mh 

Põ»zvØS›¯x BS®. 

Â£μ® ¹.

ÁõhøP ©ØÖ® Á› 25000 

ö£õxÁõÚ öÁÎa\® 3000 

©øÓ•P T¼ 7500 

\Uv 7500 

C¯¢vμzvß «uõÚ ÷u´©õÚ® 50000 

£Ø£» ö\»ÄPÒ 50000 

 

  xøÓPÒ 

Â£μ[PÒ ö©õzu® P1 P2 P3 S1 S2 
÷|μi T¼ 50000 15000 10000 15000 7500 2500
C¯¢vμzvß 

Svøμ vÓß 

150 60 30 50 10 – 

C¯¢vμzvß 

AhUP® 

1250000 300000 400000 500000 25000 25000

EØ£zv ©o 

÷|μ® 

– 6225 4028 4066 – – 

uÍ¨£μ¨£ÍÄ 

£¯ß£õk 

10000 2000 2500 3000 2000 500

öÁÎa\zvØPõÚ 

¦ÒÎPÒ 

60 10 15 20 10 5

 ÷\øÁ xøÓUPõÚ ö\»ÄPÒ ¤ßÁ¸©õÖ JxUPÄ®. 
 P1 P2 P3 S1 S2 

S1 20% 30% 40% – 10%

S2 40% 20% 30% 10% – 

 EØ£zv xøÓPÐUPõÚ ÷©ÀEøÓ ö\»ÂÚ[PøÍ 

¤ßöuõhº £QºÄ •øÓ°À PnUQkP. 

20. Explain the methods of labour remunerations. 
 öuõÈ»õÍº £ÀÁøP Fv¯ •øÓPøÍ ÂÁ›. 

–––––––––   


